ESARA

Japanese Technology since 1912

EVM series - vertical Multistage Pumps Data Book 50Hz




VERTICAL MULTISTAGE PUMP S

TYPICAL APPLICATIONS

INDUSTRY

BUILDING SERVICE

WATER SUPPLY

» Water treatment
reverse osmosis
ultra-filtration
water purification
micro-filtration
softening, ionizing and

demineralising systems

swimming pools
separators

Boiler feeding
steam systems
condensate systems

Wash and clean

vehicle washing systems
industrial part washing

laundry systems

supply of liquids with acids and
bases

supply of chemical liquids

Chilling

handling of refrigerants for cooling
thermal control systems

industrial cooling

laser cooling

« Machine tooling
cooling lubricant supply for tooling
machines

« Pressure boosting
pressure boosting for industrial use

* Food & beveage
food washing systems
bottle wash systems

« Pharmaceutical industries

« Marine applications
freshwater, deckwash, high fog and
fire fighting on ships

 Pressure boosting
pressure boosting for buildings
pressure boosting for high rise
buildings/hotels

* Sprinkler systems

« Fire fighting systems
jockey pump

« District heating
« Heat exchangers / fan heaters
« Air conditioning systems

* Heating systems

« Water treatment
water treatment plants filtration
water treatment plants transfer

« Pressure boosting
transfer from water treatment plants
(mains)

« Irrigation
golf course / sport fields irrigation

 Agriculture
sprinkler irrigation
drip irrigation

101

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

50Hz



5OHZ

VERTICAL MULTISTAGE PUMP S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20
EVM(.)32-45-64

Usgpm. 5 10 5 2 0 40 50 60 70 80 90100 120 140160180200 250 300 350400 500
| | | | | | | | I | | | I | | | 11 |
T T T T T T T T T LI T T T 1T T T T T
mp.g.p.m. 5 10 5 N 30 40 50 60 70 8 90100 120 140160180200 250 300 350 400
40— 400
P H = 1200
Pl 50t I 559 J C ooy
C = ; B
i . 5 10 512 I
25 20 ::ﬁ1 3 il | I 1" e 45 - 800
— n 7 | B ~
20- 200 = ! : = 1o
HERNENGE N
e i y mman | 54 50
| 1 | |
124 120 ! = i 400
| -
1.0 100 1 1 | 360
| R 300
084 80 ! ! i - 250
| A
06 60 I |E I ! L 200
I N | |
05 50 I } |
| I - 150
04 40 ; :
03 3 | i 100
: é
I | 75
02 20 " = b T
! I ~ mad
| == I ~ H
| ~ N
015 15 L - 50
— N ——t— T
\ il - 40
—
01 10 e N\
~ —
=] ~~ \ L "
§ N\ —25
0.07 - 7
0.06 6 - 20
0.05 5
15
0.04 - 4
9 10 15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
T T T T T T T T T T 17T T T T 17T T T T T T T T
1 15 2 3 4 5 6 7 8910 12 14161820 25 30 40 50 60 70 10 g
100 T | TT
[N INRRARAEIN T T
L 45 6
n & 1 15720 |
%] 5 0 __—
60 3 - Il o > AN
el QPP =gV 3&‘
e  ~ ’; "4
50 o
o v
40 <~
30
9 10 15 2 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]

102
EBARA Pumps Europe g ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMPS

EVIVIS

200

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S EVM S

PRODUCT FEATURES

[General]
1. Pump Type
The EVMS is Non-self-priming, vertical multistage in line, centrifugal pumps.
2. Model range
The EVMS comes in 1,3,5,10,15 and 20 m3/h flow sizes for the majority market needs.
3.  Maximum operating pressure
The EVMS can be operated at 16 bar or 25 bar as  maximum.
4. Operating temperature range
The EVMS can be operated from - 30 to + 140 °C as the maximum.
5. Material options
AISI 304, AIS| 316 and Cast iron versions are available.
6. Motor
The EVMS can be coupled with the commercial motors that are acquired in the markets.
The EVMS can be provided as the electric pump with IE3 motor for the over 0.75 kW.
PTC sensor is available from 1.5 kW motor.
7. Certifications
DM174/2004 ACS KTW
Pl
Drinking water approval ‘ A(()S ‘
‘ V73 ',/' CERTIFIED COMPONENTS
Mechanical seal SiC/Carbon_EPDM SiC/Carbon_EPDM SiC with graphite/SiC_EPDM
EVMSG . - -
EVMS . D o
EVMSL . ° o
Note: * KTW is certified for components. e Standard
o On request
8.

Conform to the provisions of the European directives c €

[Main Product Features]

1.

Innovative hydraulic solutions

« Commercial motors can be fitted to all of the pump models without any modifications thanks to low pump axial thrust
load.

 Low axial thrust load impeller can ensure long life of the motor bearing.

« High pump efficiency classified in MEI > 0.7 for all models.

Energy saving

« High efficiency IE3 motor starting from 0.75 kW complied with the EuP 2005/32/EC and ErP 2009/125/EC directives.

e The VFD (Variable frequency drive) and the commercial sensor can be directly mounted on EVMS to maintain
physical constant operations  such as pumping pressure depending on the conditions of use.

Piping connection options

 The various pipe connections are available depending on the application requirements Oval flange / Round flange /
Loose flange / Victaulic® / Clamp

» The external dimensions can be adjusted to the replacement of the existing pump in the wide majority

Shaft seal solutions
« Silicon carbide inclusions with graphite can be used as dry lubricant to reduce friction.
« It's conforming to EN12756 (ex DIN 24960)

Easy maintenance

 The cartridge mechanical seal enables the plug in replacement of the shaft seal without disassembling the motor
bracket

» The spacer coupling allows easy maintenance without having to remove heavy motors over 5.5 kW.

Smart plug solutions
Air ventilation plug / Water filling & sensor plug / Commercial sensor fitting / Measurements for suction and discharge
pressure / drain

201

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVMS

VERTICAL MULTISTAGE PUMP S

PRODUCT SPECIFICATIONS
EVMS(.)1-3-5-10-15-20

PUMP
Version EVMSG EVMS EVMSL
~ |Nominal flow rate (m¥h ) 1]3]s]1w0]1s[20[ 1] 3] 5 10]15]20[1]3]5]10]15]20
OTZ:;::Q Maximum working pressure 1.6/2.5MPa (16 bar/ 25 bar)
Liquid temperature range -30°C to 140°C
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Liner ring EN 1.4301 (AISI 304) + PPS EN 1.44+0;F(>/;ISI 316)
Bottom casing Cast Iron | EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Casing cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EN 1.4301 (AISI 304) EVMSG / EVMS 1-3-10 , EVMSG / EVMS 5-15-20 (depend on models)
Shaft EN 1.4404 (AISI 316L) EVMSL 1-3-10 , EVMSL 5-15-20 (depend on models)
EN 1.4462 (AISI 329A) EVMSG / EVMS / EVMSL 5-15-20 (depend on models)
Key - -
Components Shaft sleeve bearing Tungsten carbide
Material Shaft Seal See the shaft seal options
O-ring EPDM o o 6 6 6 606 6 6 6 6 06/ 06 06 &6 & o o
FPM O|0]O0O]O0O]J]O|JO|JO]O]O]O|O|O|JO]O]O]|0O]0O]|O
Outer casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Motor Bracket Cast Iron
Tie rod Galvanized steel 6.8 strength class ISO 898/1
. up to 4 kW Die cast aluminium
Coupling
from 5.5 kW Cast Iron
Base Cast Iron Die cast aluminium
Oval flange up to 16 bar [ BN BN BN BN NN BN NN BN NN NN BN BN BN NN NN BN NN ]
Round flange up to 16 bar 0|0|0|]O0O|O0O|O|O|O|O|O0O]O]O|O]0O]0O]0O]0O]|O0O
) (DIN) from 16 bar to 25 bar [ AN BN AN BN BN A BN AN BN BN BN BN BN BN AN BN BN )
con':f:tion Loose round flange up to 16 bar 0]|0]|0|0O|O0|O|O|O|O]O|O]|O
(DIN) from 16 bar to 25 bar ol|o|o]Oo]|Oo|O|O]|]O|O|O|O]|O
Victaulic® up to 16/25 bar oOj|o0o|O|O|O|J]O|l|OJO]J]O|O|0O]|O
Clamp up to 16/25 bar olo|lo|]o|o|o|lo|lo|Oo|lO|O|O
Legend: @ Standard O Options
MOTOR
Frequency 50 Hz
Phase Single Phase Three Phase
o— Rotation speed =~ 2900 min-1
Source Power rating 0.37 +2.2 kW 0.37 +18.5 kW
0.5+3.0 HP 0.5+25 HP
B v o
Type Electric - TEFC
Efficiency Level from 0.37 upto 2.2 kW ° fr(l)lrEnSOa'gZ)vljep[;.OYg.E\?v kw
Type No' of poles 2
Protection degree IP 55
Insulation Class F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW
Others Casing Material Aluminium
Flange mount (IEC motor) III\AMB%I(A}';\&()%F\)/QOSSI(I\(A\;\)/)

202

= EaanA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

50Hz



50+, EVMS

VERTICAL MULTISTAGE PUMP S

SHAFT SEAL
EVMS(.)1-3-5-10-15-20
1. Shaft Seal
d4 d4
il = ﬁ: FWT = :
L el HIR i
ﬁ?ﬁ d1 ﬁ?@ d1
4 3 3
_ 2 ‘ 2
1 " 5 & 1
3 3
| | 4

Cartridge Unbalanced type

up to 16 bar

2. Type of Shaft Seal and Dimensions [mm]

from 16 to 25 bar
Cartridge Balanced type

203

Pump model Shaft seal type Shaft seal material
Max operating Cartridge 1 2 3 4 5
Max operating temperature ' . Type key
RISSSUS Unbalanced | Balanced Rotating Part Code Slalonay Code | Elastomers | Code Comprgssmn Collar | Code
Part spring
-30°C to+120°C ° sic (Q1) | carbon | (B) EPDM (E) AISI 316 (©) Q1BEG
-30°C to +80°C e} sic (Qu) | carbon | (B) FPM V) AISI 316 (©) Q1BVG
upto 16 bar | -30°C to + 140°C (@] SiC with graphite | (Qg) SiC Qv EPDM (E) AISI 316 (G) | HQUQIEG
-30°C to+80°C e} SiC with graphite | (Qg) sic (Q1) FPM v) AISI 316 ©) | HQQivG
-30°C to +140°C e} sic (Q1) | Carbon | (B) EPDM (E) AISI 316 (©) | HQiBEG
-30°C to +140°C [ ] Sic (Q1) | Carbon (B) EPDM (E) AISI 316 (G) HQ1BEG
from 16 bar | - 30°C to +80°C o sic (Q1) | carbon | (B) FPM (V) AISI 316 (G) | HQiBVG
to25bar | 350 {0+ 140°C o Sic with graphite | (Qg)| sic | Qo | EPbM | B AISI 316 @) | HosQ:EG
-30°C to+80°C e} SiC with graphite | (Qo) sic (Q1) FPM ) AISI 316 ©) | HQQivG
® standard O options
Shaft seal Max operating d1 d2 a3 a4 l
Pump model "
¥ RIESSUIS [mm] [mm] [mm] [mm] [mm]
Unbalanced 16 bar 35
EVMS 1/3/5 Cartridge 16 23 27
Balanced 25 bar 20 425
Unbalanced 16 bar 375
EVMS 10/15/20 Cartridge 20 29 35
Balanced 25 bar 24 45

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




EVM S VERTICAL MULTISTAGE PUMP S 50k

TYPE KEY
EVMS(.)1-3-5-10-15-20

Evms| [ ][5 1 121 J[F15 1 J[aBeG][E T 7 1037! M}

Phase motor
M = single phase
null = 3 phase

Motor in kW _ pag.402

Code for rubber parts
V = FPM (Viton)
E = EPDM

4| Code for shaft seal materials _ pag.203

Pole
Null = 2 pole

Frequency
5=50Hz

Code for pipe connection
F = Round flange

N = Oval flange

LF = Loose round flange

V = Victaulic® connection
C = Clamp connection

Code for pump version
null = standard version

| Number of impellers
|Space
Flow rate [m3/h]
113|5|10|15]20
Code for model series
null = AISI 304 version
L = AISI 316 version
G = Cast Iron version
| Series name
Example for pump without motor Example for pump with motor
EVMS5 2F5Q1BEGE EVMS5 2F5Q1BEGE/0.37M
NAMEPLATE
P.VA 01234660221 c € 1) “TYPE” Pump model
g Emﬂ 2) Q" Indicates upper and lower flow rate limits
38023 Cles (TN) - ITALY  MADE IN ITALY 3) “H” Indicates head limits corresponding to minimum and maximum flow rate
TYPE M 4)  “Hmax" Maximum head
: 5)  “Hmin” Minimum head
O ‘Hmax @ m |Hin @ m ‘ O 6) “P2” Rated power of the motor (output at shaft)
e @ limin |H ® m 7)) “HP” Rated power of the motor expressed in HP (Horse Power)
PP () W H [min* () 8) “Hz" Frequency
s @ P 9) min-1 Speed of rotation
10)  “PIN°” Pump item number
Me> (i) e (1) % 11) “MEI Index of the pump’s quality in relation to its efficiency
12) “Hyd. Eff. 7 Hydraulic efficiency of the pump

204

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




5OHZ VERTICAL MULTISTAGE PUMP S EVM S

PERFORMANCE RANGE
EVMS(.)1-3-5-10-15-20

usgam. 5 1 52 30 40 50 60 70 80 90100 120 140 160180200 250 300 350400 500
L L L L L L L | L L1 1 l L1 1 1 L | L1 L
T T T T T T J T T T T7T T T T TT T T T T
Impgpm. 5 10 5 0 0 40 50 60 70 80 90100 120 140160180200 250 300 350 400
404 400
p H e et i e e E Eama e === ML D )
MP
Pl 504 1™ agp . : 100 H
< - 900
e 0
254 250 . . s
| | |
204 200 — I -7
TN NN NG T INON RN e
| | | S
151 1% I ' i | - 500
| | |
124 12 I P i i L 400
| 1 -
104 100 } i | | 350
i | i | E - 300
08 80 ! " !
| i i o
| y I i
067 0 ! H ! ! - 200
1 i L L JLIsY gt | 1
%1 ® | 1 3 5 1105200321 45764 150
04 4 ; |
0.3 30 } ; — 100
= i
I | 75
02 20 I = i - == L
I = B &
0.15 15 Ei 1 50
LI ] N N
\ T~ L 40
0.1 10 e N A
: “uq \ 1 L
0.09] 9 < \ \[ -\ 20
0.08 8 X \ %
0.07 7 1
0.06 6 —20
0.05- 5
15
0.04 - 4
910 B2 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [Vmin]
I T T T T T T T T T TT T T T 1T T T T T T T T
1 15 2 3 4 5 6 7 8910 1214161820 25 30 40 50 60 70 100 o iy
100 TITTTTITT T TTT
HHHTHH 45164
L T B e e R SRR e e M RS p R B AR URR, [ 11  JHRRE RS B = == =~ pARR| MEEEE
[%] 5 10 = - T
— LA ¥ ~
60 1 ;— N ~ o |~ 32
50 " -
P e
2 A
30
910 52 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000

Qimin]

205
EBARA Pumps Europe g ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVM S VERTICAL MULTISTAGE PUMP S 50k

CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to 1ISO 9906:2012 - Grade 3B.

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic
viscosity of v =1 mm?/s (1 cSt).

The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of
best efficiency point.

Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

n = pump efficiency

NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the
best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical
when controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

Minimum efficiency index (MEI)

Pump type MEI

EVMS(.)1 >0.70
EVMS(.)3 >0.70
EVMS(.)5 >0.70
EVMS(.)10 >0.70
EVMS(.)15 >0.70
EVMS(.)20 >0.70

206
5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SELECTION CHART

EVMS(.)1-3-5
Maximum Q=Capacit
Pump Type Motor working |Umin 0| 12 | 20 | 30 | 40 | 60 | 75 | 100 | 130
kW HP  sSize [ pressure [m¥h o[ 072 12 [ 18 | 24 | 36 | 45| 6 | 78
Single phase Three phase (MPa) H=Total manometric head in meters

EVMS()1 2/0.37M EVMS()1 2/0.37 037/ 05| 71 119 [112] 104 | 91 | 71 | - - - -
EVMS()1 3/0.37M EVMS()1 3/0.37 037/ 05| 71 179 | 168 | 156 | 136 | 106 | - - - -
EVMS()1 4/0.37M EVMS()1 4/0.37 037/ 05| 71 238 | 224 208 | 182 | 142 | - - - -
EVMS()1 5/0.37M EVMS()1 5/0.37 037/ 05| 71 30 28 | 26 [ 227|177 - - - -
EVMS()1 6/0.37M EVMS()1 6/0.37 037/ 05| 71 358 | 336 | 312 | 27.3 | 212 | - - - -
EVMS()1 7/0.37M EVMS()1 7/0.37 037/ 05| 71 415 | 392 | 364 | 31.8 | 248 | - - - -
EVMS()1 8/0.37M EVMS()1 8/0.37 037/ 05| 71 475 | 445| 415 | 364 | 283 | - - - -
EVMS()1 9/0.55M EVMS()1 9/0.55 055]0.75] 71 535 | 505 | 47 | 41 | 318 | - - - -
EVMS()1 10/0.55M | EVMS()110/0.55 |0.55]0.75] 71 596 | 56 | 52 | 455 | 354 | - - - -
EVMS()111/0.55M | EVMS()111/0.55 |0.55]0.75] 71 1.6 655 | 615| 57 | 50 | 389 | - - - -
EVMS()112/0.55M | EVMS()112/0.55 |0.55]0.75] 71 715 | 67 | 625 | 545 | 425 | - - - -
EVMS()113/0.55M | EVMS()113/0.55 | 0.55]0.75] 71 775 | 73 | 675 | 59 | 46 - - - -
EVMS()114/0.75M | EVMS()114/0.75 | 0.75] 1 80 835 | 785| 73 | 635 | 495 | - - - -
EVMS()116/0.75M | EVMS()116/0.75 | 0.75] 1 80 955 | 895 | 83 | 725 | 565 | - - - -
EVMS()1 18/1.1M EVMS()1 18/1.1 11| 15] 80 107 | 101 | 935 | 82 | 635 - - - -
EVMS()1 20/1.1M EVMS()1 20/1.1 11| 15| 80 119 | 112 | 104 | 91 | 71 - - - -
EVMS()1 22/1.1M EVMS()1 22/1.1 11| 15] 80 131 | 123 | 114 | 100 | 78 - - - -
EVMS()1 24/1.1M EVMS()1 24/1.1 11]15] 80 143 | 135 | 125 | 109 | 85 - - - -
EVMS()1 26/1.1M EVMS()1 26/1.1 11| 15] 80 155 | 146 | 135 | 118 | 92 - - - -
EVMS()1 27/1.5M EVMS()1 27/1.5 15| 2 | 90s 161 | 151 | 140 | 123 | 955 | - - - -
EVMS()1 29/1.5M EVMS()1 29/1.5 15| 2 | 90s 173 | 163 | 151 | 132 | 103 | - - - -
EVMS()1 32/1.5M EVMS()1 32/1.5 15| 2 | 90s 25 191 | 179 | 166 | 145 | 113 | - - - -
EVMS()1 34/1.5M EVMS()1 34/1.5 15| 2 | 90s 203 | 191 | 177 | 155 | 120 | - - - -
EVMS()1 37/2.2M EVMS()1 37/2.2 22| 3 | 9oL 221 | 207 | 192 | 168 | 131 | - - - -
EVMS()1 39/2.2M EVMS()1 39/2.2 22 | 3 | 9oL 232 | 219 | 203 | 177 | 138 | - - - -
EVMS()3 2/0.37M EVMS()3 2/0.37 037] 05| 71 147 - | 141 | 136] 129] 109] 83 | - -
EVMS()3 3/0.37M EVMS()3 3/0.37 037/ 05| 71 22.1 - | 211 [ 204] 194 164 ] 125] - -
EVMS()3 4/0.37M EVMS()3 4/0.37 037/ 05| 71 295 - | 282 [ 271 258219167 - -
EVMS()3 5/0.55M EVMS()3 5/0.55 055|075 71 36.9 - | 352 | 339323274209 - -
EVMS()3 6/0.55M EVMS()3 6/0.55 055]0.75] 71 44.2 - | 425 | 405 ] 388 328 25 - -
EVMS()3 7/0.75M EVMS()3 7/0.75 075] 1 80 515 - | 495 | 475] 45 | 383|292 - -
EVMS()3 8/0.75M EVMS()3 8/0.75 075] 1 80 59 - | 565 | 545|515 44 | 334 - -
EVMS()3 9/1.1M EVMS()3 9/1.1 11]15] 80 66.5 - | 635 ] 61 | 58 | 49 [376] - -
EVMS()3 10/1.1M EVMS()3 10/1.1 11| 15| 80 16 735 - | 705 | e8 | 645|545 415] - -
EVMS()3 11/1.1M EVMS()3 11/1.1 11| 15] 80 81 - | 775 | 745 71 | 60 | 46 - -
EVMS()3 12/1.1M EVMS()3 12/1.1 11| 15| 80 88.5 - | 845 | 815| 775 | 655 | 50 - -
EVMS()3 13/1.5M EVMS()3 13/1.5 15| 2 | 90s % - | o015 | 88 | 84 | 71 | 545 - -
EVMS()3 14/1.5M EVMS()3 14/1.5 15| 2 | 90s 103 - | 985 | 95 [ 905] 765|585 - -
EVMS()3 15/1.5M EVMS()3 15/1.5 15| 2 | 90s 111 - | 106 | 102 | 97 | 82 |625| - -
EVMS()3 16/1.5M EVMS()3 16/1.5 15| 2 | 90s 118 - | 113 | 109 | 103 [ 875 67 - -
EVMS()3 17/2.2M EVMS()3 17/2.2 22| 3 | 9oL 125 - | 120 115 [ 110 93 [ 71 - -
EVMS()3 19/2.2M EVMS()3 19/2.2 22| 3 | 9oL 140 - | 134 | 129 | 123 | 104 [ 795 - -
EVMS()3 21/2.2M EVMS()3 21/2.2 22| 3 | 9oL 155 - | 148 | 142 | 136 | 115 [ 875 - -
EVMS()3 23/2.2M EVMS()3 23/2.2 22| 3 | 9oL 170 - | 162 | 156 | 149 | 126 | 96 - -
EVMS()3 24/2.2M EVMS()3 24/2.2 22 3 | 9oL 177 - | 169 | 163 | 155 | 131 | 100 | - -

- EVMS()3 25/3.0 30| 4 [ 100L 184 - | 176 | 170 | 161 | 137 | 104 | - -

- EVMS()3 27/3.0 30| 4 [ 100L 25 199 - | 190 | 183 | 174 | 148 | 113 | - -

- EVMS()3 29/3.0 30| 4 [ 100L 214 - | 204 | 197 | 187 | 159 | 121 | - -

- EVMS()3 31/3.0 30| 4 | 100L 229 - | 218 | 210 | 200 | 170 | 129 | - -

- EVMS()3 33/3.0 30 | 4 [ 100L 243 - | 232 | 224 | 213 | 181 | 138 | - -
EVMS()5 2/0.37M EVMS()5 2/0.37 037] 05| 71 19 - - - 18 | 17.1] 16 | 138 ] 10.2
EVMS(.)5 3/0.55M EVMS()5 3/0.55 055]0.75] 71 284 | - - - | 269 ] 256 | 239 207 | 153
EVMS()5 4/0.75M EVMS()5 4/0.75 075] 1 80 37.9 - - - | 359341319 276 | 204
EVMS()5 5/1.1M EVMS()5 5/1.1 11| 15| 80 475 - - - 45 | 425 | 39.9| 345 | 255
EVMS()5 6/1.5M EVMS()5 6/1.5 15| 2 | 90s 57 - - - 54 | 51 | 48 | 415 | 306
EVMS()5 7/1.5M EVMS()5 7/1.5 15| 2 | 90s 66.5 - - - 63 | 595 | 56 | 485 | 357
EVMS()5 8/2.2M EVMS()5 8/2.2 22| 3 | 9oL 76 - - - 72 | 68 | 64 | 55 | a1
EVMS()5 9/2.2M EVMS()5 9/2.2 22| 3 | 9oL 16 85.5 - - - 8L | 77 | 72 | 62 | 46
EVMS()5 10/2.2M EVMS()5 10/2.2 22| 3 | 9oL 95 - - - 90 |[855| 80 | 69 | 51
EVMS()5 11/2.2M EVMS()5 11/2.2 22 3 | 9oL 104 - - - | 985] 94 |875| 76 | 56

- EVMS()5 12/3.0 30| 4 | 100L 114 - - - | 108 ] 102 [955| 83 | 61

- EVMS()5 13/3.0 30| 4 [ 100L 123 - - - 127 [ 111 | 104 | 895 | 665

- EVMS()5 14/3.0 30| 4 | 100L 133 - - - [ 126 | 119 | 112 | 965 | 715

- EVMS()5 15/3.0 30| 4 [ 100L 142 - - - | 135 | 128 | 120 | 104 | 765

- EVMS()5 17/4.0 40 [ 55| 112M 161 - - - | 153 | 145 | 136 | 117 | 865

- EVMS()5 19/4.0 40| 55 | 112M 180 - - - 171 [ 162 | 152 | 131 | 97

- EVMS()5 20/4.0 40| 55| 112M 190 - - - | 179 [ 171 [ 160 | 138 | 102

- EVMS()5 23/5.5 55 | 7.5 | 132S 25 218 - - - | 206 | 196 | 183 | 159 | 117

- EVMS()5 25/5.5 55| 75| 132S 237 - - - | 224 | 213 [ 199 | 173 | 127

- EVMS()5 27/5.5 55| 75| 132S 256 - - - | 242 [ 230 | 215 | 186 | 138

1.6 MPa=16 bar ; 2.5 MPa=25 bar

207

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA



EVMS

VERTICAL MULTISTAGE PUMP S

SELECTION CHART

EVMS(.)10-15-20

Maximum Q=Capacity
Pump Type Motor working |Umin 0| 75 | 100 | 130 | 150 | 180 | 200 | 250 | 300 | 350 | 400 | 450 | 480
kw | HP | size | pressure [m#h o] 45 | 60 | 7.8 | 90 | 108 | 120] 150 | 180 | 21.0 | 240 | 27.0 | 288
Single phase Three phase (MPa) H=Total manometric head in meters

EVMS()102/0.75M | EVMS()102/0.75 | 0.75] 1 | 80 218 | 212 | 208 | 197 | 187 | 166 | 149] 9.8 - - - - -
EVMS()10 3/1.5M | EVMS()103/1.5 15| 2 | os 327 | 318 | 312 | 296 | 280 | 249 | 224 147 | - - - - -
EVMS()104122M | EVMS()104/2.2 22| 3 | 9oL 436 | 424 | 417 | 395 | 373 | 332 | 29.8| 196 | - - - - -
EVMS()10522M | EVMS()105/2.2 22| 3 | ooL 545 | 53 52 | 493 | 467 | 415 | 373| 246 | - - - - -
EVMS()10 6/22M | EVMS()10 6/2.2 22| 3 | 9oL 655 | 635 | 625 | 59 56 50 | 45 | 295 | - - - - -

- EVMS()10 7/3.0 30| 4 | 100L 765 | 74 73 69 | 655 | 58 | 52 | 344 | - - - - -

- EVMS()10 8/3.0 30| 4 | 100L 16 870 | 845 | 835 | 79 | 745 | 665 | 59.5| 393 | - - - - -

- EVMS()10 9/4.0 40 | 55 | 112M 98 | 955 | 935 | 89 84 | 745 | 67 | 44 - - - - -

- EVMS()1010/4.0 | 4.0 | 55 | 112 M 109 | 106 | 104 | 985 | 935 | 83 | 745| 49 - - - - -

10 - EVMS()1011/4.0 | 4.0 | 55 | 112 M 120 | 116 | 115 | 109 | 103 | 915 | 82 | 54 - - - - -

- EVMS()1012/55 | 55 | 7.5 | 132 131 | 127 | 125 | 118 | 112 | 995 | 895| 59 - - - - -

- EVMS()1014/55 | 55 | 7.5 | 132 153 | 148 | 146 | 138 | 131 | 116 | 104 | 685 | - - - - -

- EVMS()1015/55 | 55 | 7.5 | 1325 163 | 159 | 156 | 148 | 140 | 124 | 112 | 735 | - - - - -

- EVMS()1016/7.5 | 7.5 | 10 | 132S 174 | 169 | 167 | 158 | 149 | 133 | 119 | 785 | - - - - -

- EVMS()1018/7.5 | 7.5 | 10 | 132S 196 | 101 | 187 | 178 | 168 | 149 | 134 | 885 | - - - - -

- EVMS()1019/7.5 | 7.5 | 10 | 132S . 207 | 201 | 198 | 188 | 177 | 158 | 142 | 935 | - - - - -

- EVMS()1021/7.5 | 7.5 | 10 | 132S ’ 229 | 222 | 219 | 207 | 196 | 174 | 157 | 103 - - - - -

- EVMS()10 22/11 11 | 15 | 160M 240 | 233 | 229 | 217 | 205 | 183 | 164 | 108 - - - - -

- EVMS()10 23/11 11 | 15 | 160M 251 | 244 | 240 | 227 | 215 | 101 | 172 | 113 - B - - -
EVMS()15 U1IM | EVMS()15 1/1.1 11]15] 8 14.9 - - 133 | 13 | 124 |121] 108 | 95 | 7.5 | 48 | - -
EVMS()15 2/22M | EVMS(.)15 2/2.2 22| 3 | 9oL 295 - - 275 | 271 | 26 | 261 | 249 | 231 | 204 | 168 | - -

- EVMS()15 3/3.0 30| 4 | 100L 445 - - 415 | 405 | 397 | 391 | 373 | 347 | 306 | 252 | - -

- EVMS()15 4/4.0 40 | 55 | 112M 59 - - 55 | 545 | 53 | 52 | 50 | 465 | 41 | 336 | - -

- EVMS()15 5/5.5 55| 7.5 | 132S 735 - - 69 68 66 | 65 | 62 | 58 | 51 | 42 | - -

- EVMS()15 6/5.5 55| 75 | 132S 16 885 - - 825 | 815 | 795 | 78 | 745 | 695 | 61 | 505 | - -

- EVMS()15 7/7.5 75| 10 | 132S 103 - - 965 | 950 | 925 | o1 | 87 | 81 | 715|585 | - -

15 - EVMS()15 8/7.5 75| 10 | 132S 118 - - 110 | 109 | 106 | 104 | 995 | 925 | 815 | 67 | - -

- EVMS()15 9/11 11 | 15 [ 160M 133 - - 124 | 122 | 110 | 117 | 112 | 104 | 92 [ 755 - -

- EVMS()15 10/11 11 | 15 | 160M 147 - - 138 | 136 | 132 | 130 | 124 | 116 | 102 | 84 | - -

- EVMS()15 11/11 11 | 15 | 160M 162 - - 151 | 149 | 146 | 143 | 137 | 127 | 112 | 925 | - -

- EVMS()15 12/11 11 | 15 | 160M 177 - - 165 | 163 | 150 | 156 | 149 | 139 | 122 | 101 | - -

- EVMS()15 13/11 1 [ 15 [160mM] 191 - - 179 | 176 | 172 | 169 | 162 | 150 | 133 | 109 | - -

- EVMS()15 15/15 15 | 20 | 160M 221 - - 206 | 203 | 199 | 105 | 187 | 174 | 153 | 126 | - -

- EVMS()15 17/15 15 | 20 | 160M 250 - - 234 | 231 | 225 | 221 | 211 | 1907 | 173 | 143 | - -
EVMS()20 /15M | EVMS()20 1/1.5 15| 2 | 90S 172 5 - - - 143 | 139 128 | 113 | 96 | 7.3 | 43 | 24

- EVMS()20 2/3.0 30| 4 | 100L 337 - - - - 304 | 209 | 289 | 27.7 | 26.2 | 236 | 199 | 174

- EVMS()20 3/4.0 4.0 | 55| 112M 505 - - - - 46 | 45 | 434 | 416 | 39.2 | 355 | 209 | 26.2

- EVMS()20 4/5.5 55| 75 | 132S 67.4 - - - - 61 | 60 | 58 | 554 | 52.3 | 47.3 | 39.8 | 349

- EVMS()20 5/7.5 75| 10 | 1328 16 84.2 - - - - 760 | 75 | 723 | 69.3 | 654 | 59 | 49.8 | 436

- EVMS()20 6/7.5 75| 10 | 132S 101 - - - - 912 | 90 | 87 | 831 | 785| 71 | 59.7 | 523

- EVMS(.)20 7/11 11 | 15 | 160M 118 - - - - 106 | 105 | 101 | o7 | 915|827 | 70 | 611

o - EVMS(.)20 8/11 11 | 15 | 160M 135 - - - - 122 [ 120 | 116 | 111 | 105 | 95 | 80 | 70

- EVMS()20 9/11 11 | 15 | 160M 152 - - - - 137 | 135 | 130 | 125 | 118 | 106 | 89.6 | 79

- EVMS()20 10/11 11 | 15 | 160M 168 - - - - 152 | 150 | 145 | 139 | 131 | 118 | 100 | 87

- EVMS()20 11/15 15 | 20 | 160M 185 - - - - 167 | 165 | 159 | 152 | 144 | 130 | 110 | 96

- EVMS()20 12/15 15 | 20 | 160M 202 - - - - 182 | 179 | 173 | 166 | 157 | 142 | 119 | 105

- EVMS()20 13/15 15 | 20 [ 160M| 25 219 - - - - 198 | 194 | 188 | 180 | 170 | 154 | 129 | 113

- EVMS()20 14/185 | 185] 25 | 160 L 236 - - - - 213 | 209 | 202 | 194 | 183 | 166 | 139 | 122

- EVMS()20 15/18.5 | 185| 25 | 160 L 253 - - - - 228 | 224 | 217 | 208 | 196 | 177 | 149 | 131

- EVMS()20 16/18.5_| 185 25 | 160 L 270 - - - - 243 | 239 | 231 | 222 | 209 | 189 | 159 | 140

1.6 MPa=16 bar ; 2.5 MPa=25 bar

208

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

5OH2



5OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

PERFORMANCE CURVE

EVMSG1
0 USgpm 2 3 4 5 8 7 8 9 10 11 12 13
| 1 1 1 1 1 | 1 1 1 1 1 | 1
I T T T T T T T T T T 1
0 Imp.gp.m. 2 3 4 5 6 7 8 9 10 1
250
- 800
p H
[MPa] [m] d?/f.zlkv%\ i
st TR
209 .0 \\3‘\”\ | | B ~~
1.5 kW N N~ N
Bl 3‘2/‘ o | T T ~~ N
1.5 kW—| ~
T =L T~ N - 600
T — T N
29/15 kW= S ~ N
T T T - T NN\
] 27/1.5.kW\_ 4] \\\ \\ N \\ \\
15 450 L1 —=26/11kw T | ™~ ™ N — 500
-+ N
BB 24/1 1 kw‘ T T NONU NN
’ T+ N~ TN N N ‘\
22t — T N
. — L] ~
AR ~ e — T — ) NO - 400
] 2?/ “1.1 kV\‘l - \\\\\ \\\\ \\\\ \\ N
T — —~— T NN
104 100 118/11'1Ikwi — = =~ "~ NN
— —
I~ —16/0750kw— L _| ~~~‘~~ \\\\ \\\; ™S ™ L 200
~I=M4/0.75xw— ~
—|— 4 I~ —— — —— T~ TN
e ilEngtaa
- T —— ‘—__ —
- -:1] 8;0-55 KW — —“____‘-——_ -“~::§‘~\‘\\\\ ™ — 200
1~ 10/055kw— — | —— T
05 50— 9055w —-— L » N —— -“:—55‘::\::\\ ]
e T I R R — S
——Tlosriw ]
6/0.37 kW— — —
——5/0.37 kvw——— - —_— 100
— —14/0.37 ww— — —+ 1
— —T3/0.37 kW— —| -
= =2/0.37 )W ———
0- 0 ‘ ‘ 0
T
0 5 10 15 20 2% 30 35 40 45 Q{l/min]
T T T T T T T T T T T T T T T 1y
0 02 04 06 08 10 12 14 16 18 20 22 24 26 28 Qmh
012 60
P2 —
kW] 008 — 40
[kw] 0 o o N7
-
oM 20
SINGLE IMPELLER kW
o0 lHHlHH! 0
0 5 10 15 20 2% 30 35 40 45 Q{[l/min]
NPSH &
20
LI oy
] 10
0 0
0 5 10 15 20 25 30 35 40 45 Q{[l/min]

Rotation speed 2900 min™
Test standard: 1SO 9906:2012 - Grade 3B

215

Ift

n
[%]

NPSH
Ift

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMP S

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25

B
2 S ‘
& &
A s
|
A G3B A GI8
o o
* 2 holes M10 T 4 holes 914
[
: ‘ G38 i G318
- = o -
8 AL :tw fﬁ T— ﬁl H
100 4 holes 212 H 175 8{ o
143 180 ~
160 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Pmax ; 1~ 3~ Weight Weight Weight Weight
Pump Type [MPa] kw Size A H2 Pur?m Pump + Motor H2 Pung1p Pump + Motor
B C H3| B C H3 1~ 3~ 1~ 3~
EVMSGL1 2/0.37 1.6 0.37 71 2105 139 133 216|139 114 216| 250 14 211 19.8 275 17.4 245 23.2
EVMSGL1 3/0.37 1.6 0.37 71 2105|139 133 216139 114 216| 271 145 21.6 20.3 296 17.9 25 237
EVMSG1 4/0.37 1.6 0.37 71 2105|139 133 216139 114 216| 292 14.9 22 20.7 317 18.3 25.4 24.1
EVMSG1 5/0.37 1.6 0.37 71 2105 139 133 216|139 114 216]| 313 15.4 225 21.2 338 18.8 25.9 24.6
EVMSG1 6/0.37 1.6 0.37 71 2105 139 133 216|139 114 216| 334 15.8 22.9 21.6 359 19.2 26.3 25
EVMSGL1 7/0.37 1.6 0.37 71 2105 139 133 216|139 114 216]| 355 16.2 233 22 380 19.6 26.7 25.4
EVMSGL1 8/0.37 1.6 0.37 71 2105 139 133 216|139 114 216| 376 16.7 238 225 401 20.1 27.2 25.9
EVMSGL1 9/0.55 1.6 0.55 71 2105|139 133 216139 114 216| 397 17.1 25.6 233 422 20.5 29 26.7
EVMSG1 10/0.55 1.6 0.55 71 2105139 133 216|139 114 216]| 418 175 26 23.7 443 20.9 29.4 27.1
EVMSGI1 11/0.55 1.6 0.55 71 2105|139 133 216139 114 216| 439 18 26.5 24.2 464 21.4 29.9 27.6
EVMSGI1 12/0.55 1.6 0.55 71 2105 139 133 216|139 114 216]| 460 18.7 27.2 24.9 485 22.1 30.6 28.3
EVMSGL1 13/0.55 1.6 0.55 71 2105|139 133 216139 114 216| 481 19.3 27.8 255 506 227 31.2 28.9
EVMSGL1 14/0.75 1.6 0.75 80 2120 160 151 232|160 139 232| 512 20 314 295 537 234 34.8 32.9
EVMSGL1 16/0.75 1.6 0.75 80 2120 160 151 232|160 139 232| 554 21 324 30.5 579 24.4 35.8 33.9
EVMSGI1 18/1.1 1.6 11 80 21201 160 151 232|160 139 232| 596 221 33.9 33.2 621 255 37.3 36.6
EVMSG1 20/1.1 1.6 11 80 21201 160 151 232|160 139 232| 638 231 34.9 34.2 663 26.5 38.3 37.6
EVMSG1 22/1.1 1.6 11 80 21201 160 151 232|160 139 232| 680 243 36.1 35.4 705 277 39.5 38.8
EVMSGI1 24/1.1 1.6 11 80 2120 160 151 232160 139 232| 722 253 37.1 36.4 747 28.7 40.5 39.8
EVMSGL1 26/1.1 1.6 11 80 2120 160 151 232|160 139 232| 764 26.3 38.1 37.4 789 29.7 415 40.8
EVMSGL1 27/1.5 25 15 90S | 9140|172 140 278|180 148 267 - - - - 820 30.1 47.9 42.8
EVMSGL1 29/1.5 25 15 90S | 9140|172 140 278|180 148 267 - - - - 862 311 48.9 43.8
EVMSG1 32/1.5 25 15 90S | 2140|172 140 278|180 148 267 - - - - 925 32.4 50.2 45.1
EVMSGI1 34/1.5 25 15 90S | 2140|172 140 278|180 148 267 - - - - 967 33.3 51.1 46
EVMSG1 37/2.2 25 2.2 90L | 2140|172 140 278|180 148 267 - - - - 1030 34.7 54.2 50.7
EVMSGL1 39/2.2 2.5 2.2 90L | 2140|172 140 278|180 148 267 - - - - 1072 35.7 55.2 51.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

216

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

50Hz



50HZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMSG1

C

140
128-6
321 135-6
131-1 Na— N /1 \\
130-2 _ \
= ] 212
130-1 >
75
120-3 o~
245 | 1114
128-1 K 7‘ ) 120-13
135-1 XN @/ 1113
B )
212-2 g 115-5
4 111-5
111
& 46
a7
g \\\s 5-4
L
N o \\ 7
|
43-3 ¥ \\ 5-2
52-1 53
44-1 L 31
43_7 ’/\ 21
™ LN 5-1
d 107
S iz 75-1
6 g 273-1
48 @ = 212-1
120-11 )
117
219
with Oval flange (N)
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 50k

PIPE CONNECTION
EVMSG1

with Round flange (F)

218

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50HZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL TABLE

EVMSG1
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class 1ISO 898/1 M10
120-3 |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  [Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 [Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class 1ISO 898/1 M6x20 ISO 4017
MEC 90 M8x20 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-6  [Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2 [Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel a6
137-1 Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kw Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

219
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG1

Ne
415-115-2|5-3|5-4| 6|7|21|31|32-1{43-2{43-3| 43-5| 43-7|44-1|46}47|48]52-1| 75| 75-1| 107|111| 111-3 | 111-4| 111-5| 115-1| 115-4 | 1155

245} 273-1

N°

11
13
15
17
19
21

20
22
26
30
34
38
42

46

48

52
58
62
68
72

1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

120-13| 128-1| 128-6 | 130-1 | 130-2 | 131-1 | 135-1| 135-6 | 137-1 | 140| 162| 212| 212-1| 212-2 | 219*

1
1
1
1
1
1
1

1111121

1,11} 3

1111 4
1,11} 5

1,11} 6

1,111} 7

1,11} 8

1,119

1711101
11111111
171(1112)1
1.1(1/13]1
17111/14)1
111111161
1:1(1/18]1
1:111/20f1
1111112211
1,111/24]1
1,111/26] 1
111112711
1111291
171113211
1.1]1134]1
111113711
101111391

1
1
1
1
1
1
1
1
1
1

1
2
3
4
5

7
8
9

1

1

1

1
1
1

1
1
1
1
1
1
1
1
1
1

1110} 1
1} 1)10] 2
1} 111} 2
1} 1113} 2
1} 1115} 2
1} 1117} 2
1} 1119] 2
111121} 2
1] 1123} 2
1} 1124] 2
1} 1)26] 2
1] 1(29] 2
1] 131] 2
1} 134] 2
1} 136] 2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

120-1 | 120-3 | 120-6 | 120-11*

117

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
/
/
/
/
/
/

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSGL1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSGL1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSGL1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

* only for Oval flange (N)

220

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




5OHZ VERTICAL MULTISTAGE PUMP S EVMS

PERFORMANCE CURVE

EVMSG3
0 USgpm. 4 6 8 10 12 14 16 18 20 2
| I I I I I | I I I I I
I T T T T T T T T T
0 Impgpm. 4 B 8 10 12 14 16 18
280 o
p H
[MPg] m] H
_| ]
24 240 —— —3‘3l3.0 KW<—" — 800
— _3}1/3.0 kiN\ I \\
——29/50kn—_ \\\ ~ 700
20 Lo ‘=2‘7l | — — ~—
} 3.0 kiN\ 1 \\\ \\
I~ —25/30mW— T — \\\\ I~ 600
B e B, N NN
16 160 1 - ! B i \;\\\\\ ‘\
— —21/22kw— \\ \\\\\\\ - 500
~—1‘9/2 2 kW T \\ $\\\\\§\\
T — T Q&\\\\
12~ 4o ___—‘1I gz.z W— —— \‘\\\\&‘\ — 400
= —16/15w— __ ——
—15M kW e SO
= —14/1.5w— — \\ \\\\\
——13/15w— __ ———— T —~— - 300
=121 — e e e S
0.8 80 —=11/1.1 kw — — :\\>§§
=101 w—-— — I — \E\\\
——9/11wW—— — T
i8/0,75k|\(’\:/— = \\\\\ \\ — 200
——7/0.75 kw M \> —~—
04— 4o = —6/055IIW—— — R
' — —5/0.55 kW— — — 0
——4/0.37 \w—— N
— —3/0.37 kW— — —F—
— —2/o37w— —
0-—- 0 0
0 10 20 30 40 50 60 70 80 Q [/min]
T T T T T T T T T T T 3
00 05 10 15 20 25 30 35 40 45 50 Q[mh
016 i 70
P2 n% M
(kW] 0.2 — 50 %]
//
008 ] 30
//
SINGl-LE IMI‘:‘ELLElR kw
004 i i 10
0 10 20 30 40 50 60 70 80 Q [Vmin]
NPSH * NPSH
m] 0
2
-5
0 0
0 10 20 30 40 50 60 70 80 Q [Vmin]

Rotation speed 2900 min™
Test standard: 1SO 9906:2012 - Grade 3B

227
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

TECHNICAL DATA

EVMSG3

Oval flange (N) DIN Round flange (F) - DN25
c c
e e
& @
& &
| |
AT e3s A cam
ol E
t —
b F 2 holes M10 £ 4 holes 214
I I
I I =1 =
- £ i‘ /\\\ L G « [ i w0 . @
o leelr=ls  JGNh L Hpel =lke +
H ‘ i E i I
-0 Aroesei2 J LT || & 100 | 18 4hdesot2 m o5 8‘
160 210 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Pmax ; 1~ 3~ Weight Weight Weight Weight
Pump Type bl kW  size A H2 Purgp Pump + Motor H2 Pulgp Pump + Motor
B C H3 B C H3 1~ 3~ 1~ 3~
EVMSG3 2/0.37 16 | 037 | 71 |0105]|139 133 216|139 114 216| 250 | 129 20 187 | 275 | 157 | 228 215
EVMSG3 3/0.37 1.6 0.37 71 2105 139 133 216|139 114 216| 271 13.3 20.4 19.1 296 16.1 23.2 219
EVMSG3 4/0.37 16 | 037 | 71 |o0105|139 133 216|139 114 216 202 | 138 | 209 196 | 317 | 166 | 237 224
EVMSG3 5/0.55 16 | 055 | 71 |0105|139 133 216|139 114 216 313 | 142 | 227 204 | 338 | 17 255 232
EVMSG3 6/0.55 1.6 0.55 71 2105| 139 133 216|139 114 216| 334 14.7 23.2 20.9 359 17.4 25.9 23.6
EVMSG3 7/0.75 16 | 075 | 80 |s120|160 151 232|160 139 232| 365 | 156 27 251 | 390 | 183 | 207 278
EVMSG3 8/0.75 1.6 0.75 80 2120| 160 151 232|160 139 232| 386 16 274 255 411 18.8 30.2 28.3
EVMSG3 9/1.1 16 | 11 | 80 |s120|160 151 232|160 139 232| 407 | 164 | 282 275 | 432 | 192 31 30.3
EVMSG3 10/1.1 16 | 11 | 80 |s120|160 151 232|160 139 232| 428 | 169 | 287 28 | 453 | 197 | 315 308
EVMSG3 11/1.1 1.6 1.1 80 2120| 160 151 232|160 139 232| 449 17.3 29.1 28.4 474 20.1 319 31.2
EVMSG3 12/1.1 16 | 11 | 80 |s120|160 151 232|160 139 232| 470 | 17.8 | 206 289 | 495 | 206 | 324 317
EVMSG3 13/1.5 1.6 1.5 90S | 9140|172 140 278|180 148 267 | 501 18.5 36.3 325 526 21.3 39.1 35.3
EVMSG3 14/1.5 16 | 15 | 90s |p140]| 172 140 278|180 148 267| 522 | 19 368 317 | 547 | 217 | 395 344
EVMSG3 15/1.5 16 | 15 | 90S |s140]|172 140 278|180 148 267| 543 | 194 | 372 321 | s68 | 222 40 34.9
EVMSG3 16/1.5 1.6 1.5 90S | 9140|172 140 278|180 148 267 | 564 20.5 38.3 33.2 589 23.2 41 35.9
EVMSG3 17/2.2 16 | 22 | 9oL |o140]|172 140 278|180 148 267| 585 | 209 | 404 369 | 610 | 237 | 432 307
EVMSG3 19/2.2 1.6 2.2 90L |@2140| 172 140 278|180 148 267| 627 219 41.4 37.9 652 24.7 44.2 40.7
EVMSG3 21/2.2 16 | 22 | 9oL |o140]|172 140 278|180 148 267| 669 | 228 | 423 388 | 694 | 256 | 451 416
EVMSG3 23/2.2 25 2.2 90L |@2140| 172 140 278|180 148 267 - - - - 736 26.6 46.1 42.6
EVMSG3 24/2.2 25 2.2 90L |@2140| 172 140 278|180 148 267 - - - - 757 27 46.5 43
EVMSG3 25/3.0 25 | 30 [100L|g160| - - - [196 155 s06| - - - - 788 | 27.6 - 50.4
EVMSG3 27/3.0 25 3.0 100L | 160 - - - 196 155 306 - - - - 830 28.6 - 51.4
EVMSG3 29/3.0 25 | 30 [100L|g160| - - - |196 155 30| - - - - 872 | 296 - 52.4
EVMSG3 31/3.0 25 3.0 100L | 160 - - - 196 155 306 - - - - 914 30.5 - 53.3
EVMSG3 33/3.0 2.5 3.0 100L | 8160| - - - 196 155 306 - - - - 956 31.3 - 54.1

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

228

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

50Hz



50HZ VERTICAL MULTISTAGE PUMP S EVMS

SECTIONAL VIEW
EVMSG3

C

140
128-6
321 135-6
131-1 Na— N /1 \\
130-2 _ \
= ] 212
130-1 >
75
120-3 o~
245 | 1114
128-1 K 7‘ ) 120-13
135-1 XN @/ 1113
B )
212-2 g 115-5
4 111-5
111
& 46
a7
g \\\s 5-4
L
N o \\ 7
|
43-3 ¥ \\ 5-2
52-1 53
44-1 L 31
43_7 ’/\ 21
™ LN 5-1
d 107
S iz 75-1
6 g 273-1
48 @ = 212-1
120-11 )
117
219
with Oval flange (N)
EBARA Pumps Europe 5 ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMP S 50k

PIPE CONNECTION
EVMSG3

with Round flange (F)

230

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMSG3
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-5 Shatft sleeve (last stage) EN 1.4301 (AISI 304)
43-7 Spacer EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3 Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M10
120-3  |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  |Screw for coupling Galvanized steel M6x25 1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
120-13 |Screw for motor MEC 71-80 Galvanized steel 8.8 strength class 1ISO 898/1 M6x20 IS0 4017
MEC 90-100 M8x20 1SO 4017
128-1 Nut for tie rod Galvanized steel M10 UNI 5588
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1  |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)

231

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG3

2 =
;
=) Dlv|v|v|v|v |||ttt v|v v ||| ||| |¢]|¥
~
¥
Bll11111111111111111111111 ﬁ2222222222222222222222222
Q
-
— x
7 Qlafafa|aa|oaojofofafaia]a|alojofolo (< <|<|<|~|~]~
@ e e e e e e e e e e e e fen fenfen e fen e fen e e <
- N
_H_v n/__lllllllllllllllllllllllll
nlllllllllllllllllllllllll ﬂ_.
l =
5 SRR AR AR AR AR AR AR AR A A A A A R D LA A AR A A R
n1111111111111111111111111 o
hl o~
™ m—1111111111111111111111111
H_..lllllllllllllllllllllllll ]
— mlllllllllllllllllllllllll
-
A A Al A A Al A A | A | A | A A A A A A A A A A A A A A || o
= A G0 N B N KN RN ENY N NV KN £V RN RN N E RN R R N LY
~
old|lalm|t|n]o|nlodlo|t|vinlold|ln
ERRNAA RN Rl Ll ol L PR P ) P R Y =0 R g i b S R A A A ENE SR 2R R N
Nlllllllllllllllllllllllll
- ~
A R e e A A e e A R A A =
~ T
1
D o [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ B4444444444444444444444444
Qlalalalalalalalalalalalalalalalalalolalalalaloalo]a o
S AR AR R A R R R R R A A R R A A R A R R AR
&
mlllllllllllllllllllllllll p
)
—M1111111111111111111111111 oMlllllllllllllllllllllllll
Nl
Qoo fovfovfovforforfonfonfon|onfeu|ovfovov o fon o fov fon fou fonfon | en e ™
\
= ERAR AR R R S R R R R R R A R A R A b
I I I I I I I I G I N N N S S S D S I A R Y 3
A -
= N
Q_u///////////llllllllllllll m3333333333333333333333333
<
ot ©
o l~I~I~lal~I=|=~|c|~|~|=lal~|~|~|al~]a]~|~[=]~]~]|~]|~ @it || ||| T || | T T |
< —
0 =
[ Al A Al A A A A Al A AR Al Al Rl Al Al R Al Rl R Al Rl Al Rl R AR e N e e e e e e e e e E A R B
2
-
N
dlmlv|~loldlo|la|slo|lofalolo|a|g|olafolo
R_/357911111222222334444556 @
— AR AR R e e e A A R e e e A A A R N
I
A/._lllllllllllllllllllllllll —
)
m
-
Al A Al A A A A A A A A | A A A A A A A A A A A | A [ —
® Sl sl |t | v e | S~~~ |~~~ ]~
- FIEINEIERN RN EIRIRRNNERIER «
N N[OOI~ 00 g GG o o | A NN N NN R oo —
N A A A A A A A A A A A A A A A e e e [ [ [ e [ [ 6
O ||| A A A A | A A A A A A A A A A A A A A A [ ISEAANAREARARANARANANAN AR AR ARARAR AR AN AR AR ARAR AR B AN
—
Mlllllllllllllllllllllllll n<_u
SINANANANANARARANANANANANANANANAN A N ANANANA AR AN AN
M1111111111122222222222222 ~
—
N :
b~ Noisivloi~ oo SIS T IYSIIIGISIRIJINITICIRS SINARANANARANANARANAR AR AN AR ANAN AR ANAN AN AR AR AN AR AN
—
M1111111111111111111111111 ™
Slafafala|a|oafojofofafaia]alalojofoloa (< <|[<|<|~|~]~
<t A A|A A A A A A A A | A A A A A A A A A A A A [ [ -
o~
Y I e e A A N NI RN R I O A A ] A G LSt ) ) A A T P e e g
S AR ER el R el el A R R R R e e e e N N N N N A R R A R 2 ISls|slglsiclsl«4SISISIFISIFEIEIFIFIFISI2I2IR e
olo|o|o|ols|is|d|sSISISIFIS IS IS RIS SISISIZERISIS S > 1222|2122 dIolS5|dim|F|B|o|R|oldn FInINis I
> RIZIZ2IRIRI2I2IZ IS |FAIN|O S IB|CIR[D I[N TV |N|S|d|D F QBT B0 |IRIDIS|alad|ldid|ald|dladld|N|NIN|N|NIQ ™| @
F RIS |F|B|S|R|IB|S|a ||| a]a NN @ |0 2 lolalelolalolalolmlmloiololelelolalolelelelolnlele
e A L A A A L A A e A D A L E A e R S A A LA A D A B R B A ) S R I R R R I I R I R R IR A A R A I A A AR A
E |0lolalo|ololololo|alojolaolololojololo|alo|old|o|a 5 12I2131213131212121218131313121213121813131813131%
DU.SSSSSSSSSSSSSSSSSSSSSSSSS O |sis|sisisisis/sis/s|sisis|s|s|sisis|s/sisisisis|s
SIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZZ SISISISISISISISISISSSSSSSSSSSSSSES
slzlalziziziglizlzizlzizlalaizizigigiclalzizlalala Lo oo ooo|ou|o|o oo oo |o oD

* only for Oval flange (N)

232

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




5OHZ VERTICAL MULTISTAGE PUMP S EVMS

PERFORMANCE CURVE

EVMSG5
0 USgpm. 5 10 15 20 % 30 35
| - L | : | — { L
0 Impg.p.m. 5 10 15 20 25 30
280
- 900
p H |
MP3] m —-—27‘/5.5k‘w\ — H
27w 25‘ | T g [
——25/5.5 kw—<
ITW T ™
23 \ ~—
= 5.5kW— |—_
~ ~ - 700
204 o ~—_ SN ~
2ot T~ ™~
- —19/20 W —~— | ~. N~ N\ - 600
‘ ‘ T~ \\ o~ \ \\\\
S
16 160 = —17/4a.0 kw=| — — :\ ™. \‘ \\
- ] ~ N NG - 500
- —15/3.0 w—~ | \\\ —~ ™~ \\‘ \\\\:\
- —dfsomw— | ~ ~N NN
12+ g0 =130k — e T \\‘\ AN - 400
- 1200w —— | T ~— RN
——1 1(2.2 wW— — | T ——— \\\\\\\ \\\ \\
10/ W] — T~ ~
— 10220 — — R e iy o N ~ - 300
08— g0 Oaw———_ T — T ~
— 82— ——__ | T — T TN
——7/ ‘1 5 W= — T — \\:\\ <\\ 00
— __6/1 SkW— 1— — —— T — T—— — S—
5/ " T o — ‘\\\(
— —5/11ew—+— — —— | T— [— T—
04 =iz —— §:§\ \: =
‘. ‘ _— ‘\\\ \\\1
= —3lossw— — — — ] @
——2/0.37 =
—
0- 0 0
0 20 4 60 80 100 120 Q|limin]
| T T T T T T T T 3
0 1 2 3 4 5 6 7 Q[mh]
032 70
P2 - . n
[W] 024 — n% 50 %]
018 —— —— 30
= SINGLE IMPELLER kW
008 | I - I | 10
0 20 4 60 80 100 120 Q [limin]
NPSH ® 15 NPSH
m] (ff
3 o 10
1 5
0 2 4 60 80 100 120 Q|Uimin]

Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B

239
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

Dimensional sketch

TECHNICAL DATA
EVMSG5

Oval flange (N) DIN Round flange (F) - DN32
o] c
— | B }_7 B
2 2 ‘
© &
© &
|
A G3B A G38
s v
N o™
I 2 holes M10 T 4 holes 218
L 5 .
- -§ ‘ ‘W P ;, = N];‘E g ]
8 ‘ b — o L PEHEs s I
H [ = | = i — 1
%, 4 holes 12 ,17?50, & 100 | 2 4 holes 12 ‘ ‘ ‘ 2100 8‘
180 T 149 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Pmax ; 1~ 3~ Weight Weight Weight Weight
Pump Type (MPa) kw Size A H2 Pulrzp Pump + Motor H2 Pulng1p Pump + Motor
B C H3|B C H3 1~ 3~ 1~ 3~
EVMSG5 2/0.37 16 | 037 71 | 9105|139 133 216|139 114 216 264 13 20.1 188 | 289 [ 175 246 23.3
EVMSGS 3/0.55 16 | 055 71 | 9105|139 133 216|139 114 216| 292 | 135 22 197 | 317 18 265 24.2
EVMSGS 4/0.75 16 | 075 | 80 |@120|160 151 232|160 139 232| 330 | 145 25.9 24 355 19 30.4 28.5
EVMSG5 5/1.1 16 11 80 | 2120|160 151 232|160 139 232| 358 15 26.8 261 | 383 | 195 313 30.6
EVMSGS5 6/1.5 1.6 15 | 90S | 9140|172 140 278|180 148 267| 396 | 15.5 333 282 | 421 | 201 37.9 32.8
EVMSG5 7/1.5 16 15 | 90S | 9140|172 140 278|180 148 267| 424 16 33.8 29 449 | 205 38.3 33.2
EVMSGS5 8/2.2 1.6 22 | 90L | 9140|172 140 278|180 148 267| 452 | 16.6 36.1 326 | 477 | 211 40.6 37.1
EVMSG5 9/2.2 16 22 | 90L |@140|172 140 278|180 148 267| 480 | 17.1 36.6 331 | 505 | 216 41.1 37.6
EVMSG5 10/2.2 1.6 22 | 90L | 9140|172 140 278|180 148 267| 508 | 17.6 37.1 336 | 533 | 221 41.6 38.1
EVMSG5 11/2.2 1.6 22 | 90L | 9140|172 140 278|180 148 267| 536 | 18.4 37.9 344 | 561 | 229 42.4 38.9
EVMSG5 12/3.0 16 30 | 100L|e160( - - - 196 155 306| 574 | 19.6 - 424 | 599 | 241 - 46.9
EVMSG5 13/3.0 1.6 30 | 100L|@160| - - - |196 155 306| 602 | 20.2 - 43 627 | 247 - 475
EVMSG5 14/3.0 16 30 | 100L|e160 - - - 196 155 306| 630 | 20.8 - 436 | 655 | 253 - 48.1
EVMSG5 15/3.0 1.6 30 | 100L|@160| - - - |196 155 306| 658 | 21.8 - 446 | 683 | 26.3 - 49.1
EVMSG5 17/4.0 16 40 |112M| @160 - - - 196 155 306| 714 | 225 - 49 739 27 - 53.5
EVMSG5 19/4.0 2.5 40 | 112M| @160 - - - |[196 155 306| - - - - 795 | 281 - 54.6
EVMSG5 20/4.0 25 40 | 112M| @160 - - - |196 155 306| - - - - 823 | 303 - 56.8
EVMSGS5 23/5.5 2.5 55 | 1325 | @300 - - - [225 160 328] - - - - 1001 37 - 75.6
EVMSGS5 25/5.5 25 55 | 1325 |@300| - - - |225 160 328| - - - - 1057 38 - 76.6
EVMSG5 27/5.5 2.5 55 | 1325 | @300 - - - |225 160 328] - - - - 1113 | 39.6 - 78.2

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

240

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

50Hz



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

32-1
162
131-1
130-2
130-1
120-3
245
128-1
135-1
212-2

M54 — X
M54 — |
120-1

432 —M8M8 | ||

433 —— | ||

Wi,

SECTIONAL VIEW

EVMSG5

43-4
52-1

435
137-1 \

48

6

17

120-11

219

241

with Oval flange (N)

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMP S 50k

PIPE CONNECTION
EVMSG5

with Round flange (F)

242

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

SECTIONAL TABLE

EVMSG5
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
81 Shatt EN 1.4462 EAISI 329)A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4304 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4404 (AISI 316L)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M8
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  [Mechanical seal seat EN 1.4301 (AISI 304)
111-4 |Seal holder EN 1.4301 (AISI 304)
111-5 [Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 129.54x5.34| OR 6510
115-4 |O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115
115-5 |O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class 1ISO 898/1 M10
120-3 |Screw A2-70 UNI 7323 M4x10 1SO 4762
120-6  [Screw for coupling Up 10 4.0 kW Galvanized steel M6x25 SO 4762
above 5.5 kW M8x20 I1SO 4762
120-11 |[Screw for counterflange A2-70 UNI 7323
MEC 71-80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class 1ISO 898/1 M8x20 ISO 4017
MEC 132 M12x40 1SO 4017
128-1  [Nut for tie rod Galvanized steel M10 UNI 5588
128-3  [Nut (motor) MEC 132 Galvanized steel M12 1SO 4032
128-6 Nut for coupling Galvanized steel M6 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 [Pin for shaft Carbon Steel D. 4x32 UNI 4838
135-1 [Washer Galvanized steel D. 10.5x21x2 UNI 6592
135-6 [Washer Carbon Steel 76
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 |Plug Washer EN 1.4301 (AISI 304)

243

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



50Hz

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG5

—
R_44444444444444444444
[1s)
N
m_11111111111111111111 [T)
Ll M22222222222222222222
A_w *
ol Al Anll Anl Aall Al Al Al Al Al Anll Anll Aull Anl Aul ull Aull Al Anll Anll Al S ISV KN KN RN ES RN N ESVR FO RN RV EVR EO FCR RV S N R BN B
— N
e a
522222222222222222222 u11111111111111111111
— N
0 b
nllllllllllllllllllll Nig i i I T TS T T (T TS
= a8
< ]
Al ||| |a]a]a|a|a|alalalalalalalaalala b Al Al Al A Sl Al An And And Al Ak Al Anll Anl Anll And Anl Al Anll Anl
—
hal N
[ mllllllllllllllllllll
n_llllllllllllllllllll =)
— SO e e e e N
—
Mllllllllllllllllllll -
;
Wllllllllllllllllllll
~
ol|din|m wi~lolo|m|wl~
glN[mfsiwe|~ oo N8I3 5 (SIRIR|IQIN M
1 LR e A e e A e
PR e A e A A A e e ] =TT
~
s —
711111111111111111111 %_44444444444444444444
< «
N R G G G R R G S N S S S A A S R SR s ) —
[1e]
Lllllllllllllllllllll
%11111111111111111111 B
0M11111111111111111111 nd_
z OIS IS ST Tt |t ||| ||| S|
= VA RS KV KNGV S KV KV KOV SV RSV KV KU SV KOV KV NSV GSR I «9
i <
M11111111122222222223 Qo m o m|m|m o |m|m|mo|oolooloo]ooo
—
[1s)
B~~~ |~ [~ [~~~ |~ A~~~ |~~~ ©
< QIS ST T T T TS ST~~~
< —
M ||| A A A A AN NN NN N NN ®
<
= w/////////////////444
el G G S G G G S N B S A A S R A e ) Al
~ -
|
N DI ([T (||| (ST
) “dlowi~iNojdlolvo|om|w |||~
%/3579111111222233444 S
pr ™
' -
ST Al At A Al Al A A Al Al Ank Ant Anh Anll Antl ARNARE Al A SRR AR e e L
N
M —
ﬁllllllllllllllllllll “xl_
™ P
S S S S S S S S S S~~~ [~ |~
N Ol NIm nwi~Nfolo(m|w|n IS
J|Nfofsjwje|~lolol 0883135 (SIRIQ|Q|R It
Nl A A A A A A A A A A A A A A A A A 1)
:
Old|dA|A|A|AdA A A |A | A A A A A A | A | A [ [ m44444444444444444444
Mllllllllllllllllllll —
™
M11111111122222222223 m_44444444444444444444
—
o oldln o|~|ola|m
r“_g/1234567889111M.11222 -
= ISAINANANANANANANAN AN ANANAN AN AN ANANAN AN ANAN:
E.ullllllllllllllllllll p
| A A A|A|[A[A A A |A|A A A A A A | A | A A A *7
o NN NN N NN NN NN N NN N~~~ o~~~
-
o IBIBIRlalblvlalal¥INIQIICI0 QfC]O 0|0 |0
WO.O.O.LLLZZQQBBBBMMMEBB o NjN Oo|o|ojo|o|o|o n|w|w
NOF|O (S |N[DF|O|A|d A A [N [N|N|N pO.O.O.LLLZZQQBBBB///EGB
2 njlvlvivivivivivivivivivivivivlv|w|w|lw|w 2 ISISISISIEIRlig IsISidId@gIvIN|e|Ig|D|v|N
E |olo|lololololololololololololololo|o|olo N AN A I I R G I I R I A I Y
S |olo|lololald|loldlaldlaldlaldlald|laldlald 2 wiulwvwiv|wvlvwv|w|w w(w(wlw|w|(w|wwfwlo
AP B D D A B R DR A 5 D R DR B D R D E 10/0]0]0|0]0]0]0]|0]0|0I00IO 0000|100
SISISISISISISISISISSISISISISISISISISS SN0 nninlnlnlnlnlninlnlnninlnlnlinlnln
a
(AR R R R R R R AR R R R R fAR R R 1) P2 P2 =R =1 b3 -3 b3 b= -2 b3 b3 b3 b3 b3 D=3 -3 -3 b3 b=
D P P D e D D D P P D D D P P P D D
Wi fwiw Wi W

shaft in EN 1.4462 (AISI 329A)

or Oval flange (N)

&

128-3: only for motor up to 5.5 kW (see drawing pag.247)

*on
*kk

244

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




5OHZ VERTICAL MULTISTAGE PUMP S EVMS

PERFORMANCE CURVE

EVMSG10
0 USgpm. 10 2 0 40 50 60 70
| | | | | | | |
| T T T T | T
0 Impgpm. 10 20 30 40 50 60
280 o
p H ”
MP.
[ 312 4 i ¥’23‘/ 1 'n“v‘\r‘ s If
' 240 22/11 wW—=—=— e B
——-21‘75p‘w— e \‘\
DR e ~\
L \\\\\Q\\ L 700
204 ——1 9{7.5 A N N
—T18/75 I — — | ~—__ N
Y S
\\\\\\\ <\ O\ - 600
- —67s—— | NN NN
| [ T "N \\
18 40 =1 5/‘5.5 = —— , —~ \Q\‘ \\\\
e
——14/55m—— —— \\\ N\ \\\\ - 500
——12/55kw —_l ~ \\\ \\\\\\\\
129 10 M/aomm — e T ™~ \\~\ \\\ R e
‘I 0/‘4 0 ‘ 7 T — \\\ \\ N \\\\\&
F—=— OwWw— — — ~—~—_ ~
L oo ' B NN\
oy 4 —_— NN -0
0.8 - 80 1‘3.0 k\\N T+ T~ ‘\\ \\\\\ Q\
— ——7/?.0 k\{v— —_——— - \\\\\\ \\;\; %1
— T 6l2200—|—— — — \b\ \\ — 200
— 522 —|— — — 3 ———
[ | —~— NN
04 g —Hrze—— —— B e s R N
— s — — — T 100
— T—
= =2l 75k W—|—|— — —} —— \:\
I —
0 0 0
0 40 80 120 160 200 240 Q [Umin]
| T T T T T T T T
0 2 4 6 8 10 12 14 16 Q[mh]
048 80
P2 L
W] 040 —_ —— 80 [%]
— n% I~
> i
R - L o
/
7 SINGLE IMPELLER kW
04 I I I 20
0 40 80 120 160 200 240 Q [Umin]
NPSH * NPSH
[m] —— 0 m
2 5
0 0
0 40 80 120 160 200 240 Q [Umin]
Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B

EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice



EVMS 50+,

VERTICAL MULTISTAGE PUMP S

TECHNICAL DATA
EVMSG10

Dimensional sketch

Oval flange (N) Round flange (F) - DN40

T MR
2 2
@ ©
@ ©
A ﬂ GI8 A Gae
N o
- 2 holes M12 £ 4 holes 218
I (-
T . : ] i
o ! A A R 638
- A e I
I 1=y T el IR R
g 08, E‘j:o : g [PeH °  lepdll
4 holes 012 H 2 H
130 100 & 130 20 4 holes 212 ‘ 2110 15
180 215 e
200 250 190 215
280 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ . Weight . Weight
Pump Type F”\Ampax kw  Size A H2 V\Ffelght Pump + Motor H2 V\Ffelght Pump + Motor
(MPa] B C H3|B C H3 L I 3~ umee g 3-
EVMSG10 2/0.75 16 | 075 | 80 |@120][160 151 232|160 139 232 343 | 216 33 311 | 343 | 243 35.7 33.8
EVMSG10 3/1.5 16 | 15 | 90S | 9140|172 140 278|180 148 267 383 | 225 | 403 352 | 383 | 253 | 431 38
EVMSG10 4/2.2 16 | 22 | 90L |@140|172 140 278|180 148 267 413 | 233 | 428 393 | 413 26 455 42
EVMSG10 5/2.2 16 | 22 | 90L | 9140|172 140 278|180 148 267 443 | 242 | 437 202 | 443 | 269 | 464 429
EVMSG10 6/2.2 16 | 22 | 90L | 2140|172 140 278|180 148 267 473 | 25 445 2 a73 | 277 | 472 437
EVMSG10 7/3.0 16 | 30 | 100L|@160| - - - |196 155 306 513 | 26 - 488 | 513 | 287 - 515
EVMSG10 8/3.0 16 | 30 | 100L|@160| - - - |196 155 306| 543 | 26.8 - 496 | 543 | 295 - 523
EVMSG10 9/4.0 16 | 40 |112M|e160| - - - |196 155 306| 573 | 27.7 - 542 | 573 | 304 - 56.9
EVMSG10 10/4.0 16 | 40 |112M|e160| - - - |196 155 306( 603 | 285 - 55 603 | 31.2 - 57.7
EVMSG10 11/4.0 16 | 40 |112M|@160| - - - |196 155 306 633 | 30.1 - 566 | 633 | 32.9 - 59.4
EVMSG10 12/5.5 16 | 55 | 1325 |@300| - - - |225 160 328 761 | 39.9 - 785 | 761 | 427 - 813
EVMSG10 14/5.5 16 | 55 | 132s|@300| - - - |225 160 328 821 | 418 - 804 | 821 | 445 - 83.1
EVMSG10 15/5.5 16 | 55 | 1325 |@300| - - - |225 160 328 851 | 427 - 813 | 851 | 454 - 84
EVMSG10 16/7.5 25 | 75 | 1325 |@300| - - - |225 160 350( - - - - 881 | 46.3 - 86.7
EVMSG10 18/7.5 25 | 75 | 132s|@300| - - - |225 160 350( - - - - 941 | 477 - 88.1
EVMSG10 19/7.5 25 | 75 | 1325 |@300| - - - |225 160 350( - - - - 971 | 49.1 - 89.5
EVMSG10 21/7.5 25 | 75 | 132s|@300| - - - |225 160 350( - - - - 1031 | 509 - 91.3
EVMSG10 22/11 25 11 [160M|@350| - - - [248 104 a76| - - - - 1091 | 532 - 115.7
EVMSG10 23/11 25 11 | 160M|@350| - - - |248 104 a76| - - - - 1121 | 59.9 - 122.4

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

252
EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

ESARA



50Hz

VERTICAL MULTISTAGE PUMPS EVM S

SECTIONAL VIEW
EVMSG10

a 120-13
|
N
140
o
321
162 — R
131-1 212
130-2 75
130-1
120-3 \
245 olf
128-1
135-1
2122
46
A IS 47
1154 — | | R o
115-1 1
1204 ——— .
32— ||| || T o3
433 ,/”; 441
52-1 Lt
W — 2
48— \)\ O
’ 31
8 \ N N 21
, 5-1
/ % N 107
é 751
@ 2731
S 2121

with Round flange (F)

253
EBARA Pumps Europe 5 EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMSG10

1
T
Q
«
o

)]
-
N

with Oval flange (N)

254

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= EaanA



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

SECTIONAL TABLE
EVMSG10
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
31 Shaft EN 1.4301 (AISI 304)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel M8x20 1SO 4762
above 11 kW M10x30 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class 1SO 898/1 M8x20 ISO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1  |Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |[Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)

255

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY




5OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG10

N°

17
19
19
23
25
27
31
33
37
39
39

1
1
1
1
1
1
1
1
1
1
1

1{1j10}1
11§11 )1
1j1j12)1
1({1j14)1
1{1j15)1
1{1j16 |1
11718 |1
117191
1j1j21 )1
1(1j22)1
1(1j23 |1

1
1
1
1
1
1
1
1
1
1
1

1111 2
1112 2
1113] 2
1115| 2
1116] 2
1118] 2
1119] 2
1119| 3

415-115-2|5-3|5-4| 6| 7| 21 |3132-143-2/43-3{44-1|46|4748|52-1}75|75-1| 107}111{111-3}111-4|{111-5/115-1}115-4|115-5

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Pump Type

EVMSG10 2/0.75

EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG10 7/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0

EVMSG10 11/4.0

EVMSG10 12/5.5

EVMSG10 14/5.5

EVMSG10 15/5.5

EVMSG10 16/7.5

EVMSG10 18/7.5

EVMSG10 19/7.5

EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

N°
117*|120-1|120-3| 120-6| 120-11*| 120-13|128-1{128-3| 128-6| 130-1| 130-2| 131-1| 135-1| 135-6|137-1| 140| 162| 212|212-1|212-2| 219*| 245| 273-1

2
2
2
2
2
2
2
2
2
2
2
2
2
/
/
/
/
/
/

Pump Type

EVMSG10 2/0.75
EVMSG10 3/1.5

EVMSG10 4/2.2

EVMSG10 5/2.2

EVMSG10 6/2.2

EVMSG10 7/3.0

EVMSG10 8/3.0

EVMSG10 9/4.0

EVMSG10 10/4.0
EVMSG10 11/4.0

EVMSG10 12/5.5
EVMSG10 14/5.5
EVMSG10 15/5.5
EVMSG10 16/7.5
EVMSG10 18/7.5
EVMSG10 19/7.5
EVMSG10 21/7.5

EVMSG10 22/11

EVMSG10 23/11

128-6 / 135-6 : with Aluminium coupling (see drawing pag.211)

* only for Oval flange (N)

256

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




VERTICAL MULTISTAGE PUMP S

EVMS

280
p H
[MPa] m]
24—

240
204 Lo
6 160
129
0.8 80
04 40
0- 0
14

P2
KW 10
06
02
NPSH &

(m]
4
0

PERFORMANCE CURVE

EVMSG15
0 USgpm 20 30 40 50 60 70 80 90 100 130
| | | | | | | | | | | |
[ I I I I [ I I I 1
0 Impgpm. 20 30 40 50 60 70 80 90 110
— 900
7N - 80
[T~
- \\\
1515w 4 - \\ - 700
~ _ \\\
13 T~ N
}11 kwr | T~ \ | 600
2w |~ N\
— 11/ ‘ - *\\ —~ \\ \
1TkW— | T— N\ N\
l \ = — = ~~ \\ N\ [~ 500
I~ 10/ ew— ~ \\ N \
| *\\ ‘\\ N \\ \\
=9M 1w —=—- ] _ — T~ \\ N\ N
1 —~ ~ \\ \‘\ - 400
I “8/7.15 w—— || T — Q\‘
\\ \
=775 wWw———} i — B RN
— S~ N \; 300
e T —_—
LT — T~
[—
— —5/55kW— — —_— \\\\ \\ \\:“
4 410kw———— —— —~—
—
- 3/3.‘0 KW ——— — | [ —
o — —~
L S - — 100
2/2.‘2 KW } ~——
T
— T111w— —— — — e
| —
0
0 100 200 300 400 Q [I/min]
[ I I I I I I I I I I I I I I 3
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28  Q[m/h]
80
| " T —
" % 60
_ — N7
I
= — 40
SIN(‘-}LE I‘MPE‘LLEF‘{ le
T 20
0 100 200 300 400 Q [/min]
e 2
et 10
0
0 100 200 300 400 Q [/min]

Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B

If

[l

NPSH
I

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL DATA
EVMSG15

Dimensional sketch

Oval flange (N) DIN

Round flange (F) - DN50

2 2
) £
& <
A G3s A 6B
o o
X 2 holes M12 I 4 holes 218
T I
T .. NP |
& = ~ 638
« N gﬂ = « Hli =gl s N
s imeli=lt (S s [HPEIH=EEE 8y
* H B F—=—n H [l
|.130 | 4 holes 912 1100 | & 130 22 4 holes 912 ‘ ‘ 2125 5
190 215
200 250 190 215
300 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ . Weight . Weight
Pump Type Pmax | yw  size A H2 | Weight  pymp 4+ Motor H2 | Weight  pymp & Motor
[MPa] Pump Pump
B C H3| B C H3 1~ 3~ 1~ 3~
EVMSG15 1/1.1 16 11 80 2120160 151 232|160 139 232| 377 22.4 34.2 33.5 377 26.9 38.7 38
EVMSG15 2/2.2 16 2.2 90L | 2140|172 140 278|180 148 267| 387 22.6 42.1 38.6 387 27.2 46.7 43.2
EVMSG15 3/3.0 16 3.0 100L | 2160 | - - - | 196 155 306| 437 24 - 46.8 437 28.5 - 51.3
EVMSG15 4/4.0 16 4.0 112S | @160 | - - - [196 155 306| 477 25.2 - 51.7 477 29.7 - 56.2
EVMSG15 5/5.5 16 55 132S | 300 | - - - | 225 160 328| 614 34.9 - 735 614 39.5 - 78.1
EVMSG15 6/5.5 16 55 132S | @300 | - - - |[225 160 328| 654 36.1 - 74.7 654 40.7 - 79.3
EVMSG15 7/7.5 16 75 132S | 300 | - - - |225 160 350| 694 38.3 - 78.7 694 42.9 - 83.3
EVMSG15 8/7.5 16 7.5 132S | @300 | - - - |[225 160 350| 734 39.6 - 80 734 44.2 - 84.6
EVMSG15 9/11 16 11 160M | 8350 | - - - | 248 194 476| 804 40.9 - 103.4 804 45.5 - 108
EVMSG15 10/11 16 11 160M | 8350 | - - - | 248 194 476| 844 42.2 - 104.7 844 46.8 - 109.3
EVMSG15 11/11 16 11 160M | 2350 [ - - - 248 194 476| 884 50.2 - 112.7 884 54.7 - 117.2
EVMSG15 12/11 25 11 160M | 8350 | - - - | 248 194 476 - - - - 924 56 - 118.5
EVMSG15 13/11 25 11 160M | 2350 [ - - - 248 194 476 - - - - 964 57.3 - 119.8
EVMSG15 15/15 25 15 160M | 8350 | - - - | 317 238 498 - - - - 1044 59.9 - 148.8
EVMSG15 17/15 2.5 15 160M | 8350 [ - - - [ 317 238 498 - - - - 1124 62.8 - 151.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

264

ESARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

5OH2



EVMS

120-13
140

2731
2121

EVMSG15

/,
_ N\

TRl

<

SECTIONAL VIEW

VERTICAL MULTISTAGE PUMPS

50Hz

AT ] e
i |

\vas K37 Gmmw—
s

130-2
130-1
120-3
245
128-1
135-1
2122
1154
11541
52-1
13741

= TVTY

with Round flange (F)

EBARA Pumps Europe reserves the right to make changes without prior notice

EBARA Pumps Europe

265



50Hz

VERTICAL MULTISTAGE PUMPS

EVMS

PIPE CONNECTION
EVMSG15

266

EBARA Pumps Europe

1
T
Q
«
o

with Oval flange (N)

)]
-
N

= EaanA

EBARA Pumps Europe reserves the right to make changes without prior notice



50+, EVMS

VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE
EVMSG15
N° PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
s Shatt EN 1.4462 EAISI 3293\)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AIS| 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4 Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3  [Screw A2-70 UNI 7323 M5x12 1SO 4762
up to 4.0 kW M6x25 1ISO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strength class ISO 898/1 M8x20 I1ISO 4762
above 11 kW M10x30 1SO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1SO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class 1SO 898/1 M8x20 ISO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1SO 4017
128-1 Nut for tie rod Galvanized steel M12 UNI 5588
128-3 Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1SO 4032
130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1  |Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1  |Plug Washer EN 1.4301 (AISI 304)

267

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



5OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG15

=
10 IR AR AR AR AR AR AR AR AR AR AR AR AR AR ]
WidAfA|dA  AlA i AlA|A | A AfA | A A|A [ A A.—//_
=
= )
5 SRR R S OO B GO AR R
5_111111111111111 -
il S EN S RV KV R RV ENR R FVR VR P IS B A
= N
B O S N IR R S N N R R R R RN O o
a IR e e e e
Ty N
nlllllllllllllll 1_.
= N | TS|
¥ N
Al A e e A e e [ e [ e N
— oA A A A A A e e A e e e e
=) N
) o~
0 5 ) ) 0 Y ey g g R e S e e e e e e
= o
= SN I I A S A S N R R
e T N Rl R T Rl Rl N D R R ) B -
hal —
~ ~
o @
O TSI IS TS S S WIS S|~~~ [~~~ =~~~ =~
—
0
7111111111111111 1_.
- AR AR AR S AR A S AR A AR A R R
qH A A A A A NN NN NN NN m -
o
—
R ettt ||| ||| Adu._lllllllllllllll
S e e e e e e e e I I I I b
. FIN
Z Qlalaja o N N%444444444444444
= -
S A A A NN NN NN NN o <
< G| |o|mm|mfmimimimioojoloolo
© -
M~~~ I~i~|~|~|~|~|~|~|~I~[~
~ ©
™ Q||| ==~ =~~~ |~~~ |~
N A H NN NN NN NN —
~ ™
© @D |~ [~~~ ||| ||| |
GG I G I NI I I I I I R g
<
o “dlolu|~lodlw |~ by
M i~[~mwviNrojoJld 999 INI8N %444444444444444
A |
-
2111111111111111 B
) SRR AR R AR AR AR AR AR AR AR AR AR AR AR
* N
* -
L I e e I I R A ]
o 3
] FIEINIEIGIES :
Jlelafm|swio|~|o|o Q)Y (2D m44444444444////
~lalalalalalalalalala]aala]w]a -
©
o |dA|d|a|c|alala]|a]a]a]a]a[a]] N o B B o R R Y B S g Y e o
4111111111111111 -
0 ™
:
M111111222222223 m444444444444444
Ni<l~lr|almis|s|w o[~ oo 9NN <
0 SIRARARI AR AR R AR AR A R R A A A R R
Mlllllllllllllll —
X
<t A ala]la]| ]| ]= Nlalalafolafaloafa oo < <<~
—
“dlnjolojwin|n|n didigd(gdIn(n Al |dld|nln
g |dld|alsglvls|e|c|S|SISIRIRIEIR P A A NT S A SR 10 IR ECR ) paj pay puy puy R
NI ILIRITIT|dIS|T|] (G IB|R 8 |dldlo|gd|vle|NIRISISISISISISIS
A IS I 5l o el B o > |Sa|elF|5io|c s 5939|885
wiv|v|v/viv|/vlv|[wv|w|v|(w|v|w|v =
2 ool dd ]| wivvlvlv|v|ww|v|w|w|wv|wv|w|wv
£ lololololoololololololololo|o P I I R I I R I I I G G G
5 1212181213 13121313181313131318 E |o|lojolo|ojololalojolo|olalo|o
o sisSisisis sisisisSis|s|s|s|s|s S nnnlnlnininininninlnlnlnln
o Isisis|sisis|sisisis|sisis|s]s
AP P P P P D P D P P P P P SiISIS|ISISISISISISISIS|ISISISIS
Wi ololololalolololololololololo

shaft in EN 1.4462 (AISI 329A)

or Oval flange (N)

&

128-6 / 135-6 : with Aluminium coupling (see drawing pag.211)

*on
*kk

268

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50+, EVMS

VERTICAL MULTISTAGE PUMP S

PERFORMANCE CURVE

EVMSG20
0 USgpm 20 30 40 50 60 70 80 90 100 110 120 130
| 1 ! ! ! ! | ! ! ! ! ! | !
| I I I I | I I I I | ]
0 Impg.pm. 20 30 40 50 60 70 80 90 100 110
280
] o
p 16/18.5 kw
[MPs] LT H
24 ‘15‘/1 85K | -~ | goo M
20T —— ] Swy
+-14/185kw 3 ™~ -
T~ ~ ~
F—~ — ! ! ! ! i ~ . e ~—— B ~
13/15 1w ™ ~~ N 700
ol ol T T — 1 T~
1\2/?5 Ikw\\ N~ T~ N
- —
LT — ~— ~
1115w B ~ NN\ - 600
T == T T~ NN\
1.6 160 N ‘.1:0/%11 :kW‘\ —~ T T~~~ NG N
P — T~
IR - — T S~ NN - 500
s | T T OO\
I~ ‘11‘1 kIW e— T N \\ \\
] — TN h
124 4o N -+ | T~ et A A L
TTwe—— | I ~_\ \\
\/ N T— U\
O/75kwWw—|—_ || A1 —
! T T O (e
0.8 80 1L L5/75mw= 4 —— B SN
| i — =
I T4lssw—— 1 || || T —— ~
ok — o - 200
‘ I —— \\\ ™~
Blaow—— 11— [ ~ ~
049 4 T — ~
— T2z 0w———f L 1| — o0
Bl — [T
— —‘1‘l1 SKW—|— — — | — —
0 0 | = 0
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
T T T T T T T T T T T T T T T 1
0 2 4 6 8 10 12 14 16 18 20 22 24 28 2 Q [m9h]
18 80
P2 ‘—————— 555\\ 1
KW 14 —— % 60 [%
10 E——— 40
SINGLE IMPELLER kW
1 L L L L 1 L L L L 1
06 , , 2
0 50 100 150 200 250 300 350 400 450 Q [Vmin]
NPSH 0 % NPSH
p—
5 —
— 10
0 0
0 50 100 150 200 250 300 350 400 450 Q [Vmin]

Rotation speed 2900 min™
Test standard: 1ISO 9906:2012 - Grade 3B

275

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



EVM S VERTICAL MULTISTAGE PUMP S 50k

TECHNICAL DATA
EVMSG20

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN50
c c
RS S
? 2
k2 ©
© &
A G38 A 68
¢ 2 holes M12 o
;\ ES 4 holes 918
L] ;
« : ‘ ﬁ «|]
Il —at 2 ﬂt[
o Uoali=ls  Jl $ L
130 4holes B12 H 100 S
190 215
200 250
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
1~ 3~ X Weight X Weight
Pump Type TVImPax kw  size A H2 Vgelght Pump + Motor H2 Vge'ght Pump + Motor
(MPal B c H3|B cC H3 L 3- N 3-
EVMSG20 1/1.5 16 | 15 | 90S |e140[172 140 278|180 148 267| 387 | 226 | 404 353 | 387 | 272 45 39.9
EVMSG20 2/3.0 16 | 30 [100L|ew60| - - - |196 155 306 397 | 227 - 455 | 397 | 27.3 - 50.1
EVMSG20 3/4.0 16 | 40 [112m|e160| - - - |196 155 306| 437 | 241 - 50.6 | 437 | 287 - 55.2
EVMSG20 4/5.5 16 | 55 [132s5|e300| - - - |225 160 328 574 | 30 - 68.6 | 574 | 346 - 73.2
EVMSG20 5/7.5 16 | 75 [132s|e300| - - - |225 160 350| 614 | 312 - 716 | 614 | 359 - 76.3
EVMSG20 6/7.5 16 | 75 [132s|e300| - - - |225 160 350| 654 | 325 - 729 | es4 | 371 - 775
EVMSG20 7/11 16 | 11 [160M|e350| - - - |248 104 476| 724 | 348 - 973 | 724 | 394 - 101.9
EVMSG20 8/11 16 | 11 [160M|e350| - - - |248 104 476| 764 | 466 - 109.1 | 764 | 512 - 113.7
EVMSG20 9/11 16 | 11 [160M|e350| - - - |248 104 476| 04| 479 - 1104 | 804 | 525 - 115
EVMSG20 10/11 25 | 11 [160Mm|@350| - - - |248 194 a76| - - - - 844 | 539 - 116.4
EVMSG20 11/15 25 | 15 [160Mm|@350| - - - |317 238 408| - - - - 8sa | 552 - 144.1
EVMSG20 12/15 25 | 15 [160M|@350| - - - [317 238 4g8| - - - - 924 | 565 - 145.4
EVMSG20 13/15 25 | 15 [160Mm|@350| - - - |317 238 408| - - - - %64 | 57.9 - 146.8
EVMSG20 14/18.5 25 | 185 [ 160L |@350| - - - [317 238 s42| - - - - 1004 | 59.2 - 163.2
EVMSG20 15/18.5 25 | 185 [ 160L |@350| - - - |317 238 sa2| - - - - 1044 | 605 - 164.5
EVMSG20 16/18.5 25 | 185 [ 160L |@350| - - - |317 238 s42| - - - - 1084 | 618 - 165.8

1.6 MPa=16 bar ; 2.5 MPa=25 bar
- not available model

276

ERARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



EVMS

VERTICAL MULTISTAGE PUMPS

50Hz

SECTIONAL VIEW
EVMSG20

120-13

140

TRl

130-2
130-1
120-3

245
128-1

135-1
2122
1154
1151
137-1

with Round flange (F)

277

= TVTY

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice



EVM S VERTICAL MULTISTAGE PUMPS 50k

PIPE CONNECTION
EVMSG20

117
120-11
219

with Oval flange (N)

278

% EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50+, EVMS

VERTICAL MULTISTAGE PUMP S

SECTIONAL TABLE
EVMSG20
Ne PART NAME MATERIAL DIMENSIONS | STANDARD
EVMSG
4 Casing cover EN 1.4301 (AISI 304)
5-1 Suction casing EN 1.4301 (AISI 304)
5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-3 Intermediate casing bearing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL-250-EN1561
7 Outer casing EN 1.4301 (AISI 304)
21 Impeller EN 1.4301 (AISI 304)
EN 1.4301 (AISI 304) -
s Shatt EN 1.4462 EAISI 329,)A)
32-1 Adjuster Key EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-6 Washer EN 1.4404 (AISI 316L) D. 26x2.5
44-1 Shaft sleeve bearing Tungsten carbide
46 Ring (mechanical seal) EN 1.4404 (AISI 316L)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M10
52-1 Bearing Tungsten carbide
75 O-Ring (plug) EPDM D.12.37x2.62 | OR 3050
75-1 O-Ring (plug) EPDM
107 Liner ring EN 1.4301 (AISI 304) + PPS
111 Mechanical Seal SiC/Carbon/EPDM
111-3  |Mechanical seal seat EN 1.4301 (AISI 304)
111-4  |Seal holder EN 1.4301 (AISI 304)
111-5 |Mechanical seal cartridge EN 1.4301 (AISI 304)
115-1 |O-Ring (outer casing) EPDM D. 164,46x5,34| OR 6645
115-4  |O-Ring (cartridge sleeve) EPDM D. 15.88x2.62 OR 121
115-5 |O-Ring (seal cover) EPDM D. 37.77x2.62 OR 3150
117 Flange gasket EPDM
120-1 |Tie-rod Galvanized steel 6.8 strength class ISO 898/1 M12
120-3 Screw A2-70 UNI 7323 M5x12 1ISO 4762
up to 4.0 kW M6x25 1SO 4762
120-6  |Screw for coupling from 5.5 kW to 7.5 kW Galvanized steel 6.8 strength class ISO 898/1 M8x20 1SO 4762
above 11 kW M10x30 1ISO 4762
120-11 |Screw for counterflange A2-70 UNI 7323
MEC 80 M6x20 1ISO 4017
120-13 |Screw for motor MEC 90-100-112 Galvanized steel 8.8 strength class ISO 898/1 M8x20 1SO 4017
MEC 132 M12x40 UNI 5739
MEC 160 M16x50 1ISO 4017
128-1  [Nut for tie rod Galvanized steel M12 UNI 5588
128-3  |Nut (motor) MEC 132 Galvanized steel M12 UNI 5588
MEC 160 M16 1ISO 4032
130-1 |Set screw A2-70 UNI 7323 M5x8 UNI 5923
130-2  |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687
131-1 Pin for shaft Carbon Steel D. 5x35 UNI 4838
135-1 |Washer Galvanized steel D. 13x24x2,5 UNI 6592
137-1  |Impeller spacer EN 1.4301 (AISI 304)
140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)
above 5.5 kW Cast Iron
162 Motor bracket Cast iron EN-GJL-200-EN 1561
212 Plug EN 1.4301 (AISI 304) G 3/8
212-1 |Plug EN 1.4301 (AISI 304) G 3/8
212-2  |Venting plug EN 1.4404 (AISI 316L)
219 Counter flange Galvanized steel
245 Coupling guard EN 1.4301 (AISI 304)
273-1 Plug Washer EN 1.4301 (AISI 304)

279

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

= TVTY



5OHZ

VERTICAL MULTISTAGE PUMP S

EVMS

QUANTITY FOR MODEL

EVMSG20

]
) ERARAE AR AR AR AR AR A AR SR AR A AR AR
51111111111111111 N
— 0
= SN e e e e e
51111111111111111 *

- lalalafafafa|a|ala <<~~~ |~|~
N
o
Wl oo fer e fer o jon oo fen fenfen o
n Hllllllllllllllll
® N
Al H A A A A A A A A A [ A A A —I_.
b RERARAE AR AR AR AR AR A AR SR AR A AR AR
= N
]
R e e e e A e R e S R A R IGICICICI I EI I R I R Y S R
—
™ o
i R R e e e e e e e R ]
R e e e e R e e R —
- o
por SRR N AN O O R I DA DR
A A A A A A A | [ [ A [ A [
— 1
;
~ Nl A A A A A A A A A A A A [ A
old|n|mi< oo
g | |N|o|tiwloi~olo|S Y FIT]|8(3 ]
< ©
LERAR AR AR AR AR AR AR AR R AR R R AR AR Dot i~ |~~~ [~~~ =~~~ =~
~ —
Bllllllllllllllll -
= FERARARARENA AR AR AR NI SR A A R A A
NG G R G G I S I S I S S I R Y —
0
s
A A e e A e e A I A ] N e e e e R e R R e R
—
I e A e e e e e R e A ]
° s, o
N%2222222222222222 SERARERERANANARAREN AN R AR AR AR AN
-
Ll
R Nl R el R A EN RN R RN R N E VA E A E VR KR N <
< Qi fm i imimimmimimioimimioiolo
© —
o dl~~I~|~|~~|~|~|~|~|~[~|=~|~1~
A ©
= R R O B O B O B N R S RN B
R =l G R G S A S R S A N S SR R K A
< ™
© D I~~~
GG G G G I I D N S S S A I R Y N
<
o oo~ lo|dlmlw|~ M
N I e G A D A I S AR B N R RN SERARA AR AR AR AR AR A AR A A A A
—
< ™
MGG GGG GGG G G G G G b
™ <ERANAS AR AR AR AR AR AN AN AR AN AR AR AN S
P «
¥ —
R e e A e R I -
& 3
Jldlnjmslv]lo|~loo [SID]YIR1T]91S8 m_444444444///////
NI I I I I I I I I I I I =
©
© [ ||| |d ||| || m_4444444444444444
-
Ylalalalalalalalalalalalalalalala
0 ™
M1111112222222222 ISERENANEANANAANA AN AN A AN
—
ﬂv_//1234456789,@.“..,&..3 i
o ISERARARNANANAR AR AR AR A AR SRR A R A A
M1111111111111111 —
¥
< ||| A A A Nilalalafafafoa|o|aaf<i<{<|<]~|~|~
—
A

o [wiojefwiviniglgl4D2(2]|2(3]8]8 dololeldlels
2 dOIFuInNIMddidIsIgIde|TIn|e o (wieloWIVIn| g lal|did|dld|d|d|d
R |[AQ|B|F|IB|S|NR|D|S|a| ||| 2 dioifvININId|ddSISIRIGIFIEIS

> SI2EEEIEEIZIH|IcdN|gS|n|o

= 21818]8[818(8[8(8 I8 |18|8 IR (8|88 R A N S R i B b

olololololololololololololololo

o S

Wiwfwjwjwiwiwjw i jwiwjwjwiwjw SISISISISISISISISISISISISISI>I>
W W

shaft in EN 1.4462 (AISI 329A)

or Oval flange (N)

&

128-6 / 135-6 : with Aluminium coupling (see drawing pag.211)

*on
*kk

280

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50HZ VERTICAL MULTISTAGE PUMP S EVMS

PACKING DRAWING
EVMS(.)1-3-5-10-15-20

<2g” TYPE 1

|
%VX&

67 TYPE 2

[

TYPE 3

[

281

EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMP S

PACKING DATA

EVMS(.)1-3-5
Pumps Pumps with motor ~1 Pumps with motor ~3
B Weight + B Weight + ] Weight +

bump type Packing [mm] Packing [kg]  |Pack|  Facking mm] Packing [kg] | Pack| ~ Facking [mm] Packing [kg] | Pack

X Y 7z |ewmsw| evmse | P8l x Y z |evmsw| evmse | PP x Y z |evmsu| evmsa | VP8
EVMS()L2/0.37 | 385 | 400 | 385 | 123 | 193 | 1 | 385 | 400 | 585 | 202 | 272 | 1 | 385 | 400 | 585 | 189 | 259 | 1
EVMS()13/0.37 | 385 | 400 | 385 | 1258 | 198 | 1 | 385 | 400 | 585 | 207 | 277 | 1 | 385 | 400 | 585 | 194 | 264 | 1
EVMS()14/0.37 | 385 | 400 | 385 | 132 | 202 | 1 | 385 | 400 | 770 | 215 | 284 | 1 | 385 | 400 | 770 | 202 | 271 | 1
EVMS()15/0.37 | 385 | 400 | 585 | 142 | 212 | 1 | 385 | 400 | 770 | 22.0 | 289 | 1 | 385 | 400 | 770 | 207 | 276 | 1
EVMS()16/0.37 | 385 | 400 | 585 | 146 | 216 | 1 | 385 | 400 | 770 | 22.4 | 203 | 1 | 385 | 400 | 770 | 211 | 280 | 1
EVMS()17/0.37 | 385 | 400 | 585 | 150 | 220 | 1 | 385 | 400 | 770 | 22.8 | 2907 | 1 | 385 | 400 | 770 | 215 | 284 | 1
EVMS()18/0.37 | 385 | 400 | 585 | 155 | 225 | 1 | 385 | 400 | 770 | 233 | 302 | 1 | 385 | 400 | 770 | 220 | 289 | 1
EVMS()19/0.55 | 385 | 400 | 585 | 159 | 229 | 1 | 385 | 400 | 770 | 25.0 | 320 | 1 | 385 | 400 | 770 | 228 | 297 | 1
EVMS()110/0.55 | 385 | 400 | 585 | 163 | 233 | 1 | 385 | 400 | 770 | 255 | 32.4 | 1 | 385 | 400 | 770 | 232 | 301 | 1
EVMS()L11/0.55 | 385 | 400 | 585 | 168 | 238 | 1 | 385 | 400 | 770 | 26.0 | 320 | 1 | 385 | 400 | 770 | 237 | 306 | 1
EVMS()112/0.55 | 385 | 400 | 585 | 175 | 245 | 1 | 385 | 400 | 770 | 26.7 | 336 | 1 | 385 | 400 | 970 | 244 | 313 | 1
EVMS()113/0.55 | 385 | 400 | 585 | 181 | 251 | 1 | 385 | 400 | 970 | 27.9 | 349 | 1 | 385 | 400 | 970 | 256 | 326 | 1
1 | EVMS()114/0.75 | 385 | 400 | 770 | 103 | 26.3 | 1 | 385 | 400 | 970 | 315 | 385 | 1 | 385 | 400 | 970 | 206 | 366 | 1
EVMS()116/0.75 | 385 | 400 | 770 | 203 | 273 | 1 | 385 | 400 | 970 | 325 | 395 | 1 | 385 | 400 | 970 | 306 | 376 | 1
EVMS()L18/1.1 | 385 | 400 | 770 | 214 | 284 | 1 | 385 | 400 | 970 | 34.0 | 410 | 1 | 385 | 400 | 970 | 333 | 403 | 1
EVMS()L20/1.1 | 385 | 400 | 770 | 22.4 | 294 | 1 | 385 | 400 | 970 | 350 | 420 | 1 | 385 | 400 | 970 | 343 | 413 | 1
EVMS()L22/1.1 | 385 | 400 | 770 | 236 | 306 | 1 | 385 | 400 | 1170 | 36.8 | 437 | 1 | 385 | 400 | 1170 | 361 | 430 | 1
EVMS()L24/1.1 | 385 | 400 | 970 | 250 | 320 | 1 | 385 | 400 | 1170 | 37.8 | 447 | 1 | 385 | 400 | 1170 | 371 | 440 | 1
EVMS()L26/1.1 | 385 | 400 | 970 | 260 | 330 | 1 | 385 | 400 | 1170 | 388 | 457 | 1 | 385 | 400 | 1170 | 381 | 450 | 1
EVMS()L27/1.5 | 385 | 400 | 970 | 264 | 334 | 1 | 400 | 510 | 1200 | 45.2 | 611 |1]2| 385 | 400 | 1170 | 414 | 483 | 1
EVMS()L20/1.5 | 385 | 400 | 970 | 27.4 | 344 | 1 | 500 | 525 | 1350 | 66.1 | 730 | 3 | 500 | 525 | 1350 | 623 | 692 | 3
EVMS()L32/1.5 | 385 | 400 | 1170 | 29.3 | 362 | 1 | 500 | 525 | 1350 | 67.4 | 743 | 3 | 500 | 525 | 1350 | 636 | 705 | 3
EVMS()L34/1.5 | 385 | 400 | 1170 | 302 | 371 | 1 | 500 | 525 | 1350 | 68.3 | 752 | 3 | 500 | 525 | 1350 | 645 | 714 | 3
EVMS()137/2.2 | 385 | 400 | 1170 | 316 | 385 | 1 | 500 | 525 | 1540 | 741 | 819 | 3 | 500 | 525 | 1540 | 695 | 772 | 3
EVMS()139/2.2 | 385 | 400 | 1170 | 32.6 | 395 | 1 | 500 | 525 | 1540 | 75.0 | 821 | 3 | 500 | 525 | 1540 | 689 | 758 | 3
EVMS()32/037 | 385 | 400 | 385 | 124 | 176 | 1 | 385 | 400 | 600 | 203 | 255 | 1 | 385 | 400 | 585 | 19.0 | 242 | 1
EVMS()33/0.37 | 385 | 400 | 385 | 12.8 | 180 | 1 | 385 | 400 | 600 | 20.7 | 250 | 1 | 385 | 400 | 585 | 19.4 | 246 | 1
EVMS()34/0.37 | 385 | 400 | 385 | 132 | 185 | 1 | 385 | 400 | 770 | 215 | 268 | 1 | 385 | 400 | 770 | 202 | 255 | 1
EVMS()35/0.55 | 385 | 400 | 585 | 142 | 194 | 1 | 385 | 400 | 770 | 234 | 286 | 1 | 385 | 400 | 770 | 211 | 263 | 1
EVMS()36/0.55 | 385 | 400 | 585 | 14.6 | 198 | 1 | 385 | 400 | 770 | 238 | 290 | 1 | 385 | 400 | 770 | 215 | 267 | 1
EVMS()37/0.75 | 385 | 400 | 585 | 155 | 207 | 1 | 385 | 400 | 770 | 27.6 | 32.8 | 1 | 385 | 400 | 770 | 257 | 309 | 1
EVMS()38/0.75 | 385 | 400 | 585 | 160 | 212 | 1 | 385 | 400 | 770 | 281 | 333 | 1 | 385 | 400 | 770 | 262 | 314 | 1
EVMS()3 9/1.1 385 | 400 | 585 | 164 | 216 | 1 | 385 | 400 | 770 | 289 | 341 | 1 | 385 | 400 | 770 | 282 | 334 | 1
EVMS()310/1.1 | 385 | 400 | 585 | 16.9 | 221 | 1 | 385 | 400 | 770 | 294 | 346 | 1 | 385 | 400 | 770 | 287 | 339 | 1
EVMS()311/1.1 | 385 | 400 | 585 | 17.3 | 225 | 1 | 385 | 400 | 970 | 30.4 | 356 | 1 | 385 | 400 | 970 | 298 | 349 | 1
EVMS()312/1.1 | 385 | 400 | 585 | 180 | 232 | 1 | 385 | 400 | 970 | 311 | 363 | 1 | 385 | 400 | 970 | 30.4 | 356 | 1
EVMS()313/1.5 | 385 | 400 | 770 | 19.0 | 242 | 1 | 385 | 400 | 970 | 37.6 | 428 | 1 | 385 | 400 | 970 | 338 | 387 | 1
3 | EVMS()314/L5 | 385 | 400 | 770 | 19.4 | 246 | 1 | 385 | 400 | 970 | 380 | 432 | 1 | 385 | 400 | 970 | 342 | 394 | 1
EVMS()315/1.5 | 385 | 400 | 770 | 199 | 251 | 1 | 385 | 400 | 970 | 385 | 437 | 1 | 385 | 400 | 970 | 347 | 399 | 1
EVMS()316/1.5 | 385 | 400 | 770 | 209 | 261 | 1 | 385 | 400 | 970 | 39.6 | 447 | 1 | 385 | 400 | 970 | 357 | 407 | 1
EVMS()317/2.2 | 385 | 400 | 770 | 214 | 266 | 1 | 385 | 400 | 970 | 417 | 469 | 1 | 385 | 400 | 970 | 382 | 434 | 1
EVMS()319/2.2 | 385 | 400 | 770 | 22.4 | 276 | 1 | 385 | 400 | 1170 | 433 | 485 | 1 | 385 | 400 | 1170 | 39.8 | 450 | 1
EVMS()321/2.2 | 385 | 400 | 770 | 233 | 285 | 1 | 385 | 400 | 1170 | 442 | 49.0 | 1 | 385 | 400 | 1170 | 407 | 459 | 1
EVMS()323/2.2 | 385 | 400 | 970 | 247 | 209 | 1 | 385 | 400 | 1170 | 45.2 | 49.4 | 1 | 385 | 400 | 1170 | 417 | 469 | 1
EVMS()324/i2.2 | 385 | 400 | 970 | 251 | 304 | 1 | 385 | 400 | 1170 | 45.6 | 49.8 | 1 | 385 | 400 | 1170 | 421 | 473 | 1

EVMS()325/3.0 | 385 | 400 | 970 | 257 | 3090 | 1 - - - - - - | 400 | 510 | 1200 | 495 | 637 [1]2
EVMS()327/3.0 | 385 | 400 | 970 | 267 | 319 | 1 - - - - - - | 500 | 525 | 1350 | 704 | 756 | 3
EVMS()320/3.0 | 385 | 400 | 970 | 276 | 3290 | 1 - - - - - - | 500 | 525 | 1350 | 713 | 766 | 3
EVMS()331/3.0 | 385 | 400 | 1170 | 292 | 344 | 1 - - - - - - | 500 | 525 | 1350 | 723 | 775 | 3
EVMS()333/3.0 | 385 | 400 | 1170 | 300 | 352 | 1 - - - - - - | 500 | 525 | 1350 | 731 | 783 | 3
EVMS()5 2/0.37 | 385 | 400 | 385 | 120 | 104 | 1 | 385 | 400 | 600 | 208 | 273 | 1 | 385 | 400 | 585 | 195 | 260 | 1
EVMS()53/0.55 | 385 | 400 | 385 | 13.4 | 109 | 1 | 385 | 400 | 770 | 231 | 295 | 1 | 385 | 400 | 770 | 208 | 273 | 1
EVMS()54/0.75 | 385 | 400 | 585 | 149 | 214 | 1 | 385 | 400 | 770 | 27.0 | 334 | 1 | 385 | 400 | 770 | 251 | 316 | 1
EVMS()5 5/1.1 385 | 400 | 585 | 155 | 219 | 1 | 385 | 400 | 770 | 279 | 344 | 1 | 385 | 400 | 770 | 272 | 337 | 1
EVMS()5 6/1.5 385 | 400 | 585 | 164 | 225 | 1 | 385 | 400 | 770 | 346 | 410 | 1 | 385 | 400 | 770 | 308 | 343 | 1
EVMS()5 7/1.5 385 | 400 | 585 | 165 | 229 | 1 | 385 | 400 | 970 | 356 | 420 | 1 | 385 | 400 | 970 | 31.8 | 382 | 1
EVMS()5 8/2.2 385 | 400 | 585 | 17.0 | 235 | 1 | 385 | 400 | 970 | 37.8 | 443 | 1 | 385 | 400 | 970 | 343 | 408 | 1
EVMS()5 9/2.2 385 | 400 | 585 | 17.6 | 24.0 | 1 | 385 | 400 | 970 | 384 | 448 | 1 | 385 | 400 | 970 | 349 | 413 | 1
EVMS()510/2.2 | 385 | 400 | 770 | 185 | 250 | 1 | 385 | 400 | 970 | 38.8 | 453 | 1 | 385 | 400 | 970 | 353 | 418 | 1
5 | Evms()511/22 | 385 | 400 | 770 | 194 | 258 | 1 | 385 | 400 | 970 | 397 | 461 | 1 | 385 | 400 | 970 | 362 | 426 | 1
EVMS()512/3.0 | 385 | 400 | 770 | 206 | 270 | 1 - - - - - - | 385 | 400 | 970 | 445 | 499 | 1

EVMS()513/3.0 | 385 | 400 | 770 | 212 | 276 | 1 - - - - - — | 400 | 510 | 1200 | 454 | 608 |1]2

EVMS()5 14/3.0 | 385 | 400 | 770 | 217 | 282 | 1 - - - - - - | 400 | 510 | 1200 | 459 | 614 [1]2

EVMS()515/3.0 | 385 | 400 | 770 | 228 | 292 | 1 - - - - - - | 400 | 510 | 1200 | 470 | 624 [1]2
EVMS()517/40 | 385 | 400 | 970 | 239 | 303 | 1 - - - - - - | 400 | 510 | 1200 | 604 | 668 | 2
EVMS()519/4.0 | 385 | 400 | 970 | 250 | 314 | 1 - - - - - - | 400 | 510 | 1200 | 615 | 679 | 2
EVMS()520/4.0 | 385 | 400 | 970 | 273 | 337 | 1 - - - - - - | 500 | 525 | 1350 | 746 | 810 | 3
EVMS()523/5.5 | 385 | 400 | 1170 | 345 | 409 | 1 - - - - - - | 500 | 525 | 1540 | 96.1 | 1025 | 3
EVMS()525/5.5 | 385 | 400 | 1170 | 355 | 419 | 1 - - - - - - | 500 | 525 | 1540 | 971 | 1035 | 3
EVMS()527/55 | 500 | 525 | 1350 | 57.3 | 63.8 | 3 - - - - - - | 500 | 525 | 1540 | 98.6 | 1051 | 3

282

E2BARA

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

5OH2



50HZ VERTICAL MULTISTAGE PUMP S EVMS

PACKING DATA
EVMS(.)10-15-20

Pumps Pumps with motor ~1 Pumps with motor ~3
. Weight + . Weight + . Weight +

Pump type Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack Packing [mm] Packing [kg] | Pack

X Y 7z |evmsw)| evmss | PP x Y 7z |ewmsu|evmss | PP x Y z  |ews@)| evmss | P8
EVMS()102/0.75_| 385 | 400 | 585 | 109 | 267 | 1 | 385 | 400 | 770 | 320 | 388 | 1 | 385 | 400 | 770 | 301 | 360 | 1
EVMS()10 3/1.5 385 | 400 | 585 | 200 | 277 | 1 | 385 | 400 | 770 | 394 | 462 | 1 | 385 | 400 | 770 | 356 | 424 | 1
EVMS()10 4/2.2 385 | 400 | 585 | 217 | 284 | 1 | 385 | 400 | 770 | 419 | 486 | 1 | 385 | 400 | 770 | 384 | 451 | 1
EVMS()10 5/2.2 385 | 400 | 585 | 225 | 203 | 1 | 385 | 400 | 970 | 433 | 494 | 1 | 385 | 400 | 970 | 39.8 | 466 | 1
EVMS()10 6/2.2 385 | 400 | 585 | 234 | 304 | 1 | 385 | 400 | 970 | 442 | 500 | 1 | 385 | 400 | 970 | 407 | 474 | 1

EVMS()10 7/3.0 385 | 400 | 585 | 243 | 311 | 1 - - - - - - | 400 | 510 | 1200 | 484 | 648 |1]2

EVMS()10 8/3.0 385 | 400 | 770 | 257 | 324 | 1 - - E - - ~ | 400 | 510 | 1200 | 493 | 656 |1]2
EVMS()10 9/4.0 385 | 400 | 770 | 265 | 333 | 1 - - - - - ~ | 400 | 510 | 1200 | 634 | 702 | 2
EVMS()1010/4.0 | 385 | 400 | 770 | 274 | 341 | 1 - - - - - ~ | 400 | 510 | 1200 | 642 | 710 | 2
10 [ EvMS()1011/4.0 | 385 | 400 | 770 | 290 | 358 | 1 - - - - - ~ | 400 | 510 | 1200 | 659 | 727 | 2
EVMS()1012/55 | 385 | 400 | 970 | 392 | 460 | 1 - - - g - ~ | 400 | s10 | 1200 | 87.8 | 946 | 2
EVMS()1014/55 | 385 | 400 | 970 | 410 | 478 | 1 - - - g - ~ | 500 | 525 | 1350 | 1005 | 1073 | 3
EVMS()1015/55 | 385 | 400 | 970 | 419 | 487 | 1 - - - g - — | 500 | 525 | 1350 | 101.4 | 1082 | 3
EVMS()1016/7.5 | 385 | 400 | 970 | 429 | 496 | 1 - - - g - — | 500 | 525 | 1350 | 104.2 | 1109 | 3
EVMS()1018/7.5 | 400 | 510 | 1200 | 453 | 606 |1]2| - - - - - — | 500 | 525 | 1540 | 1085 | 1148 | 3
EVMS()1019/7.5 | 400 | 510 | 1200 | 462 | 620 |1|2| - - - - - — | 500 | 525 | 1540 | 100.9 | 1167 | 3
EVMS()10 21/7.5_| 400 | 510 | 1200 | 480 | 638 |1|2| - - - - - — | 500 | 525 | 1540 | 111.4 | 1182 | 3
EVMS()10 22/11 200 | 510 | 1200 | 593 | 661 | 2 - - g g - — | 610 | 525 | 1750 | 136.1 | 1429 | 3
EVMS()10 23/11 500 | 525 | 1350 | 768 | 836 | 3 - - - - - — | 610 | 525 | 1750 | 1420 | 1488 | 3
EVMS()15 UL.L 385 | 400 | 585 | 212 | 293 | 1 | 385 | 400 | 770 | 337 | 418 | 1 | 385 | 400 | 770 | 330 | 411 | 1
EVMS()15 2/2.2 385 | 400 | 585 | 215 | 206 | 1 | 385 | 400 | 770 | 417 | 498 | 1 | 385 | 400 | 770 | 382 | 463 | 1

EVMS()15 3/3.0 385 | 400 | 585 | 228 | 309 | 1 - - - - - - | 400 | 510 | 1200 | 469 | 646 |1]2
EVMS()15 4/4.0 385 | 400 | 585 | 240 | 321 | 1 - - E - - ~ | 400 | 510 | 1200 | 602 | 695 | 2
EVMS()15 5/5.5 385 | 400 | 770 | 342 | 424 | 1 - - - - - ~ | 400 | 510 | 1200 | 832 | 914 | 2
EVMS()15 6/5.5 385 | 400 | 770 | 354 | 436 | 1 - - - - - ~ | 400 | 510 | 1200 | 844 | 926 | 2
EVMS()15 7/7.5 385 | 400 | 770 | 376 | 458 | 1 - - - - - ~ | 400 | 510 | 1200 | 884 | 966 | 2
15 | EVMS()15 8/7.5 385 | 400 | 970 | 39.4 | 475 | 1 - - - g - ~ | 400 | 510 | 1200 | 89.7 | 979 | 2
EVMS()15 9/11 400 | 510 | 1200 | 454 | 630 |1]2| - - - - - ~ | 500 | 525 | 1350 | 1252 | 1332 | 3
EVMS()15 10/11 200 | 510 | 1200 | 477 | 653 [1]2| - - - - - — | 500 | 525 | 1540 | 127.8 | 1360 | 3
EVMS()15 11/11 200 | 510 | 1200 | 499 | 676 |1]2| - - - - - — | 500 | 525 | 1540 | 135.3 | 1444 | 3
EVMS()15 12/11 200 | 510 | 1200 | 608 | 689 | 2 - - - g - — | 500 | 525 | 1540 | 137.3 | 1454 | 3
EVMS()15 13/11 200 | 510 | 1200 | 621 | 702 | 2 - - - g - — | 500 | 525 | 1540 | 1386 | 1467 | 3
EVMS()15 15/15 200 | 510 | 1200 | 647 | 728 | 2 - - - g - — | 610 | 525 | 1750 | 1676 | 1757 | 3
EVMS()15 17/15 500 | 525 | 1350 | 7890 | 870 | 3 - - - - - — | 610 | 25 | 1750 | 1705 | 1786 | 3
EVMS()20 UL5 385 | 400 | 585 | 214 | 29.6 | 1 | 385 | 400 | 770 | 397 | 449 | 1 | 385 | 400 | 770 | 390 | 442 | 1
EVMS()20 2/3.0 385 | 400 | 585 | 220 | 302 | 1 - - g g - ~ | 385 | 200 | 770 | 450 | 495 | 1

EVMS()20 3/4.0 385 | 400 | 585 | 2290 | 311 | 1 - - E - - ~ | 400 | 510 | 1200 | 500 | 685 |1]2
EVMS()20 4/5.5 385 | 400 | 770 | 293 | 375 | 1 - - E - - ~ | 400 | 510 | 1200 | 783 | 865 | 2
EVMS()20 5/7.5 385 | 400 | 770 | 306 | 388 | 1 - - E - - ~ | 400 | 510 | 1200 | 814 | 896 | 2
EVMS()20 6/7.5 385 | 400 | 770 | 318 | 400 | 1 - - - - - - | 400 | 510 | 1200 | 826 | 908 | 2
EVMS()20 7/11 385 | 400 | 970 | 400 | 482 | 1 - - - - - ~ | 500 | 525 | 1350 | 119.3 | 1275 | 3
20 |_EVMS()20 /11 400 | 510 | 1200 | 463 | 641 |1]2| - - - - - ~ | 500 | 525 | 1350 | 120.7 | 1379 | 3
EVMS()20 9/11 400 | 510 | 1200 | 476 | 654 |1|2| - - - - - ~ | 500 | 525 | 1350 | 131.0 | 1392 | 3
EVMS()20 10/11 400 | 510 | 1200 | 490 | 668 |1|2| - - - - - ~ | 500 | 525 | 1540 | 1349 | 1431 | 3
EVMS()20 11/15 200 | 510 | 1200 | 500 | 681 [1]2| - - - - - ~ | 500 | 525 | 1540 | 162.8 | 1710 | 3
EVMS()20 12/15 200 | 510 | 1200 | 612 | 694 | 2 - - g g - ~ | 500 | 525 | 1540 | 164.1 | 1723 | 3
EVMS()20 13/15 200 | 510 | 1200 | 625 | 708 | 2 - - g g - ~ | 500 | 525 | 1540 | 165.4 | 1737 | 3
EVMS()20 14/185 | 400 | 510 | 1200 | 639 | 721 | 2 - - g g - ~ | 610 | 525 | 1750 | 181.9 | 1900 | 3
EVMS()20 15185 | 400 | 510 | 1200 | 652 | 734 | 2 - - g g - ~ | 610 | 525 | 1750 | 183.2 | 1914 | 3
EVMS()20 16/185 | 400 | 510 | 1200 | 665 | 747 | 2 - - - - - — | 610 | 525 | 1750 | 1845 | 1927 | 3

283

EBARA Pumps Europe ERARA

EBARA Pumps Europe reserves the right to make changes without prior notice



50Hz

VERTICAL MULTISTAGE PUMP S

MOITOR

400

5 EBARA EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice




50Hz

VERTICAL MULTISTAGE PUMP S

GENERAL

Various regulatory authorities in many countries have introduced or are planning legislation to encourage the
manufacture and use of higher efficiency motors, as part of a concerted effort worldwide to reduce energy
consumption.

Indeed, the International Electrotechnical Commission (IEC) has introduced a new standards relating to
energy efficient motors.

IEC 60034-30 defines new efficiency classes for motors and harmonizes the currently different requirements
for induction motor efficiency levels around the world.

On 22 July 2009, Commission Regulation (EC) N. 640/2009 implementing EcoDesign EUP Directive
2005/32/EC states that in the European Community, with the exception of some special applications, motors
shall not be less efficient than the IE3 efficiency level as from 1 January 2015.

In detail:
IE3 by January 1, 2015 (for motors =7.5 to 375 kW).
IE3 for all motors by January 1, 2017 (for motors from 0.75 to 375 kW).

MOTOR EVMS MOTOR EVM
Frequency 50 Hz 50 Hz
Phase Single Phase | Three Phase Three Phase
Rotation speed =~ 2900 min-1 =~ 2900 min-1
power 0.37+2.2 kW 0.37 +18.5 kW 2.2+37 kW
SOUrCe |poyer rating — = -
0.5+3.0 HP 0.5+25 HP 3.0+50 HP
230/400 = 10% V (up to 4kW) 230/400 +10% V (up to 4kW)
0,
Voltage 230£10% V 400/690 £ 10% V (above 5.5 KW) 400/690 + 10% V (above 5.5 kW)
Type Electric - TEFC Electric - TEFC
- - from 0.37 up to 0.55 kW IE2 from 2.2 up to 5.5 kW (IE3 on request)
Efficiency Level from 0.37 up to 2.2 kW IE3 above 0.75 KW IE3 above 7.5 KW
Type No' of poles 2 2
Protection degree IP 55 IP 55
Insulation Class F (temperature rise class B) F (temperature rise class B)
Thermal Protection PTC is available for the above 1.5 kW PTC
Others Casing Material Aluminium Aluminium
IM B14 (up to 4 kW) IM B14 (up to 4 kW)
Flange mount (IEC motor) IM B5 (above 5.5 kW) IM BS5 (above 5.5 kW)
Coupling Flange Size Power Noise
(MEC) kw] [HP] LpA - dB(A) *
0.37 0.5
71 <70
0.55 0.75
0.75 1
80 <70
11 15
90 S 15 2
<70
Q0L 2.2
100 L 3.0 4 <70
112 M 4.0 5.5 <70
55 75
132 S 72
75 10
11 15
160 M
15 20 74
160 L 18.5 25
180 M 22 30 77
30 40
200 L 78
37 50

401
EBARA Pumps Europe g EBARA

EBARA Pumps Europe reserves the right to make changes without prior notice




EVMS

VERTICAL MULTISTAGE PUMPS

TECHNICAL MOTOR DATA
EVMS 1-3-5-10-15-20

Single Phase Motor at 50Hz, 2 poles

Motor Capacitor Load efficency Full load current | Locked rotor current
and power-factor [A] [A]
’ . Power
Coupling Flange Size n % cos—¢
(MEC) kW] [HP] [UF] I\ 100% 100% 230V 230V
71 0.37 0.5 16 400 57.6 0.89 3.1 9.6
71 0.55 0.75 16 400 69.0 0.89 3.9 13.6
80 0.75 1 25 400 65.0 0.95 5.3 28.1
80 1.1 15 36 400 74.0 0.97 6.5 26
+90S 15 2 35 400 79.0 0.97 8.8 46
+90L 2.2 3 40 400 78.0 0.97 12.9 61
4 Single phase motors manufactured by EBARA
Three Phase Motor at 50Hz, 2 poles
Motor Load efficency Full load current Locked rotor current
' ) Power Efficiency and power-factor A A
Coupling Flange Size n % cos—¢
(MEC) [kW] | [HP] 50% | 75% | 100% | 100% 230V | 400V | 690V | 230V | 400V | 690V
71 0.37 0.5 - 58.0 64.0 70.0 0.78 1.7 1 - 8.1 4.7 -
71 0.55 0.75 - 57.0 64.0 71.0 0.77 2.6 15 - 12.5 7.2 -
80 0.75 1 IE3 77.8 81.2 82.0 0.78 2.9 1.7 - 26.1 15.1 -
80 1.1 15 IE3 78.7 81.7 82.7 0.76 4.2 2.4 - 38.7 22.3 -
90 S 15 2 IE3 83.2 84.8 84.2 0.85 5.2 3 - 43.6 25.2 -
9L 2.2 3 IE3 85.0 86.2 86.5 0.82 8 4.6 - 73.3 42.3 -
100 L 3.0 4 IE3 82.3 85.8 87.1 0.89 9.7 5.6 - 85.4 49.3 -
112 M 4.0 5.5 IE3 86.8 87.8 88.1 0.93 12.1 7 - 116.4 | 67.2 -
132 S 55 75 IE3 88.0 88.5 89.2 0.90 - 10 5.8 - 89 51.4
132S 75 10 IE3 88.6 89.2 90.1 0.92 - 13.1 7.6 - 116.6 | 67.3
160 M 11 15 IE3 87.4 89.8 91.2 0.89 - 19.7 11.4 - 179.3 | 1035
160 M 15 20 IE3 91.0 91.3 91.9 0.89 - 26.7 15.4 - 259 149.5
160 L 18.5 25 IE3 91.6 92.8 92.4 0.88 - 33 19.1 - 353.1 | 203.9

402

B Eaana

EBARA Pumps Europe

EBARA Pumps Europe reserves the right to make changes without prior notice

5OH2



	EVMSG catalog
	1. SPECIFICATIONS 
	1.1 TYPICAL APPLICATIONS 
	1.2 PERFORMANCE RANGE 

	2. EVMS 1-3-5-10-15-20 
	2.1 PRODUCT FEATURES 
	2.2 PRODUCT SPECIFICATIONS 
	2.3 SHAFT SEAL 
	2.4 TYPE KEY and NAMEPLATE
	2.5 PERFORMANCE RANGE 
	2.6 CURVE SPECIFICATIONS 
	2.7 SELECTION CHART 
	2.8 EVMS(L)1 
	EVMSG1 

	2.9 EVMS(L)3 
	EVMSG3 

	2.10 EVMS(L)5 
	EVMSG 5 

	2.11 EVMS(L)10 
	EVMSG10 

	2.12 EVMS(L)15 
	EVMSG15 

	2.13 EVMS(L)20 
	EVMSG20 

	2.14 PACKING 


	EVMS-EVMSG-EVM catalog_Part185
	EVMS-EVMSG-EVM catalog_Part186
	EVMS-EVMSG-EVM catalog_Part187



